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(i) Data Sufficiency
:_‘2;57" JJU" (1)

Note: In questions numbered 1 to 20, a question 1s followed by data in the form

of two statements labeled as I and II. You must decide whether the data
given 1n the statements are sufficient to answer the questions. Using the

data make an appropriate choice from (1) to (4) as per the following

guidelines:
(a) Mark choice (1) 1f the statement I alone is sufficient to answer the
question.

(b)  Mark choice (2) if the statement II alone 1s sufficient to answer the
question.

(¢) Mark choice (3) if both the statements I and II are sufficient to
answer the question but neither statement alone 1s sufficient.

(d) Mark choice (4) if both the statements I and II together are not
sufficient to answer the question and additional data 1s required.
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For a=1. b>1. what 1s the LCM of aand 5?

S VLCM Kb s a 9/1a>1, b>1

L. Product of @ and b 1s 1763
II. a and b are coprimes 1 763 Fbsbusa . 1
~Usticoprimes i jysbosia 11
Options:
1. %1
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3. %3
4. % 4
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(i) Data Sufficiency
:_‘2;57" JJU" (1)

Note: In questions numbered 1 to 20, a question 1s followed by data in the form

of two statements labeled as I and II. You must decide whether the data
given 1n the statements are sufficient to answer the questions. Using the

data make an appropriate choice from (1) to (4) as per the following

guidelines:
(a) Mark choice (1) 1f the statement I alone is sufficient to answer the
question.

(b)  Mark choice (2) if the statement II alone 1s sufficient to answer the
question.

(¢) Mark choice (3) if both the statements I and II are sufficient to
answer the question but neither statement alone 1s sufficient.

(d) Mark choice (4) if both the statements I and II together are not
sufficient to answer the question and additional data 1s required.
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If a, b, ¢ are positive integers. 1s their product @ b ¢ even?

_€xeven cbac AL LKLY ‘uﬂ!ntcgers:ﬂicmbmaf .

L a+ b+ cisodd

1L a + ¢ is odd at+tb+cisodd. .I
a+cisodd | 1II

Options:

1. %1
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(i) Data Sufficiency
:_‘2;57" JJU" (1)

Note: In questions numbered 1 to 20, a question 1s followed by data in the form

of two statements labeled as I and II. You must decide whether the data
given 1n the statements are sufficient to answer the questions. Using the

data make an appropriate choice from (1) to (4) as per the following

guidelines:
(a) Mark choice (1) 1f the statement I alone is sufficient to answer the
question.

(b)  Mark choice (2) if the statement II alone 1s sufficient to answer the
question.

(¢) Mark choice (3) if both the statements I and II are sufficient to
answer the question but neither statement alone 1s sufficient.

(d) Mark choice (4) if both the statements I and II together are not
sufficient to answer the question and additional data 1s required.
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Isa=b?
3 ¥ — 3 is a factor of x'— 277
i v —2isa factor of x* — 16°
-l = b ‘al/ Isa>b?
¥ —3isafactorof ¥~ 279 .1
v—2isafactorofx'—16° . II
Options:
1. %1
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(iy  Data Sufficiency

:«J!@JJU‘ (1)

Note: In questions numbered 1 to 20, a question 1s followed by data in the form

of two statements labeled as I and II. You must decide whether the data
given 1n the statements are sufficient to answer the questions. Using the

data make an appropriate choice from (1) to (4) as per the following
guidelines:

(a) Mark choice (1) 1f the statement I alone is sufficient to answer the
question.

(b)  Mark choice (2) if the statement II alone 1s sufficient to answer the
question.

(¢) Mark choice (3) if both the statements I and II are sufficient to
answer the question but neither statement alone 1s sufficient.

(d) Mark choice (4) if both the statements I and II together are not
sufficient to answer the question and additional data 1s required.
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Is the parallelogram ABCD a rectangle?

I.  AC=BD
¢ &l [IParallelogrambABCD

I1. LA+ /B=180°
AC=BD .1

A+ /ZB=180" ‘11
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(i) Data Sufficiency
:_‘2;57" JJU" (1)

Note: In questions numbered 1 to 20, a question 1s followed by data in the form

of two statements labeled as I and II. You must decide whether the data
given 1n the statements are sufficient to answer the questions. Using the

data make an appropriate choice from (1) to (4) as per the following

guidelines:
(a) Mark choice (1) 1f the statement I alone is sufficient to answer the
question.

(b)  Mark choice (2) if the statement II alone 1s sufficient to answer the
question.

(¢) Mark choice (3) if both the statements I and II are sufficient to
answer the question but neither statement alone 1s sufficient.

(d) Mark choice (4) if both the statements I and II together are not
sufficient to answer the question and additional data 1s required.
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What 1s the area of the circle?

e bl 3K L]

L The circle is inscribed 1n a square
I1. The length of the side of the square 1s § cm

8IS Ol . 1

Options:
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(i) Data Sufficiency
:_‘2;57" JJU" (1)

Note: In questions numbered 1 to 20, a question 1s followed by data in the form

of two statements labeled as I and II. You must decide whether the data
given 1n the statements are sufficient to answer the questions. Using the

data make an appropriate choice from (1) to (4) as per the following

guidelines:
(a) Mark choice (1) 1f the statement I alone is sufficient to answer the
question.

(b)  Mark choice (2) if the statement II alone 1s sufficient to answer the
question.

(¢) Mark choice (3) if both the statements I and II are sufficient to
answer the question but neither statement alone 1s sufficient.

(d) Mark choice (4) if both the statements I and II together are not
sufficient to answer the question and additional data 1s required.
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What is the three digit number P, where 100 <P< 2107
100 <P< 21020\ ‘U A Ssmef LP
L. P gives remainder 9 when divided by 10
S 2105 S 2 9P ]

I1. P 1s divisible by 11

G e 1P S s T
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(i) Data Sufficiency
:_‘2;57" JJU" (1)

Note: In questions numbered 1 to 20, a question 1s followed by data in the form

of two statements labeled as I and II. You must decide whether the data
given 1n the statements are sufficient to answer the questions. Using the

data make an appropriate choice from (1) to (4) as per the following

guidelines:
(a) Mark choice (1) 1f the statement I alone is sufficient to answer the
question.

(b)  Mark choice (2) if the statement II alone 1s sufficient to answer the
question.

(¢) Mark choice (3) if both the statements I and II are sufficient to
answer the question but neither statement alone 1s sufficient.

(d) Mark choice (4) if both the statements I and II together are not
sufficient to answer the question and additional data 1s required.
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What is the cost of one chair?

I Chair and 1 Table cost Rs. 12.000
< 12000208 Ll /. 1

I1. The cost of Table 1s twice the cost of the Chair

e Il A5 SIS, T

Options:
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(i) Data Sufficiency
:_‘2;57" JJU" (1)

Note: In questions numbered 1 to 20, a question 1s followed by data in the form

of two statements labeled as I and II. You must decide whether the data
given 1n the statements are sufficient to answer the questions. Using the

data make an appropriate choice from (1) to (4) as per the following

guidelines:
(a) Mark choice (1) 1f the statement I alone is sufficient to answer the
question.

(b)  Mark choice (2) if the statement II alone 1s sufficient to answer the
question.

(¢) Mark choice (3) if both the statements I and II are sufficient to
answer the question but neither statement alone 1s sufficient.

(d) Mark choice (4) if both the statements I and II together are not
sufficient to answer the question and additional data 1s required.
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What 1s selling price of each article?
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I The trader made a profit of Rs. 100
58 63,1005 20 |
II. Two successive discounts of 10% each were given

il st 5610% 4Ll 2. 11

Options:
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3. %3
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Question Number : 9 Question Id : 6672694995 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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(i) Data Sufficiency
:_‘2;57" JJU" (1)

Note: In questions numbered 1 to 20, a question 1s followed by data in the form

of two statements labeled as I and II. You must decide whether the data
given 1n the statements are sufficient to answer the questions. Using the

data make an appropriate choice from (1) to (4) as per the following

guidelines:
(a) Mark choice (1) 1f the statement I alone is sufficient to answer the
question.

(b)  Mark choice (2) if the statement II alone 1s sufficient to answer the
question.

(¢) Mark choice (3) if both the statements I and II are sufficient to
answer the question but neither statement alone 1s sufficient.

(d) Mark choice (4) if both the statements I and II together are not
sufficient to answer the question and additional data 1s required.
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What are the two natural numbers ¢ andb? o
,ugmlﬁlﬁuébma

L) LCM of a and b= 240

%240 —LCM ¥ bula .1

IT. HCF of g and b =20
wHCF=20¢a+bJ s, 11

Options:
1. %1
o %oz
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Question Number : 10 Question Id : 6672694996 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



(i) Data Sufficiency
:_‘2;57" JJU" (1)

Note: In questions numbered 1 to 20, a question 1s followed by data in the form

of two statements labeled as I and II. You must decide whether the data
given 1n the statements are sufficient to answer the questions. Using the

data make an appropriate choice from (1) to (4) as per the following
guidelines:

(a) Mark choice (1) 1f the statement I alone is sufficient to answer the
question.

(b)  Mark choice (2) if the statement II alone 1s sufficient to answer the
question.

(¢) Mark choice (3) if both the statements I and II are sufficient to
answer the question but neither statement alone 1s sufficient.

(d) Mark choice (4) if both the statements I and II together are not
sufficient to answer the question and additional data 1s required.
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How many people in the city speak Hindi1?
A S\ SIS

¢ 10% of people in the city can speak two languages

HE S Ll NO% LS ]

II. 5% of people 1 the city who can speak two languages can speak
Hindi1
B S St ZE S Vs 5% L T

Options:
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Question Number : 11 Question Id : 6672694997 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



(i)

Data Sufficiency

:.‘JJEPJJI!‘ (1)

Note: In questions numbered 1 to 20, a question 1s followed by data in the form

of two statements labeled as I and II. You must decide whether the data
given 1n the statements are sufficient to answer the questions. Using the

data make an appropriate choice from (1) to (4) as per the following
guidelines:

Mark choice (1) 1f the statement I alone is sufficient to answer the

(a)
(b)
(c)
(d)

question.

Mark choice (2) if the statement ITI alone 1s sufficient to answer the

quesiion.

Mark choice (3) if both the statements I and II are sufficient to
answer the question but neither statement alone 1s sufficient.

Mark choice (4) if both the statements I and II together are not
sufficient to answer the question and additional data 1s required.
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Does the point (x,v) lie in the first quadrant?

IL.

Options:

1.9 1
o ® oo
o ® 3

xv<—10

x+y< 10

ﬁ,f_t*ﬁ&!’? J~Quadrant &MJ:J'/ 6(x,y)
xy<-10 .1

x+y< 10 .11
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(i) Data Sufficiency
:_‘2;57" JJU" (1)

Note: In questions numbered 1 to 20, a question 1s followed by data in the form

of two statements labeled as I and II. You must decide whether the data
given 1n the statements are sufficient to answer the questions. Using the

data make an appropriate choice from (1) to (4) as per the following

guidelines:
(a) Mark choice (1) 1f the statement I alone is sufficient to answer the
question.

(b)  Mark choice (2) if the statement II alone 1s sufficient to answer the
question.

(¢) Mark choice (3) if both the statements I and II are sufficient to
answer the question but neither statement alone 1s sufficient.

(d) Mark choice (4) if both the statements I and II together are not
sufficient to answer the question and additional data 1s required.
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Is 6 a factor ofn+3?
e Factor Likn +3 6 |/,

E 1 1s even and divisible by 3
..EL.(‘ZJJ ulfﬁ':,_?;:!f_;ﬁ.:ﬁz ..QH,J;-%‘. |
II.  »is divisible by a prime number
et M6 = Prime Number{inS_2. 11

Options:
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Question Number : 13 Question Id : 6672694999 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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(i) Data Sufficiency
..".‘Jﬁ"' JJL’" (1)I

Note: In questions numbered 1 to 20. a question 1s followed by data in the form

of two statements labeled as I and II. You must decide whether the data
given in the statements are sufficient to answer the questions. Using the

data make an appropriate choice from (1) to (4) as per the following
guidelines:

(a) Mark choice (1) if the statement I alone is sufficient to answer the
question.

(b)  Mark choice (2) if the statement II alone 1s sufficient to answer the
question.

(¢) Mark choice (3) if both the statements I and II are sufficient to
answer the question but neither statement alone 1s sufficient.

(d) Mark choice (4) if both the statements I and II together are not
sufficient to answer the question and additional data 1s required.
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What is the height of the tree?

_%.k(JEJIJ&éJ}

L The height of mountain 1s 300mts
< #3003y 1
. The angles of depression of the top of the tree and the bottom of the

tree are 45° and 60° respectively as seen from the top of the

mountain.

2P 60°45° Sendenil Sl ndnd g i el file dgdly. 11
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Question Number : 14 Question Id : 6672695000 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
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(i)

Data Sufficiency

:.‘JJEPJJI!‘ (1)

Note: In questions numbered 1 to 20, a question 1s followed by data in the form

of two statements labeled as I and II. You must decide whether the data
given 1n the statements are sufficient to answer the questions. Using the

data make an appropriate choice from (1) to (4) as per the following
guidelines:

(a) Mark choice (1) 1f the statement I alone is sufficient to answer the
question.

(b)  Mark choice (2) if the statement II alone 1s sufficient to answer the
question.

(¢) Mark choice (3) if both the statements I and II are sufficient to
answer the question but neither statement alone 1s sufficient.

(d) Mark choice (4) if both the statements I and II together are not
sufficient to answer the question and additional data 1s required.
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How many men are required to complete the work in 40 days?

T%a;;ﬁ(ﬁ'ﬁiﬂ LLﬁ;;frb@gJufﬂU

| 5 8 men and 10 women can complete the work 1 20 days.
_u,?é /th(K.QJUJJJZUJIf 10ushst 215 28 . ]
II. 12 women can complete the work in 30 days.
B E S K LiAUIB0EI#12 LTI
Options:
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Question Number : 15 Question Id : 6672695001 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
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(i) Data Sufficiency
:_‘2;57" JJU" (1)

Note: In questions numbered 1 to 20, a question 1s followed by data in the form

of two statements labeled as I and II. You must decide whether the data
given 1n the statements are sufficient to answer the questions. Using the

data make an appropriate choice from (1) to (4) as per the following

guidelines:
(a) Mark choice (1) 1f the statement I alone is sufficient to answer the
question.

(b)  Mark choice (2) if the statement II alone 1s sufficient to answer the
question.

(¢) Mark choice (3) if both the statements I and II are sufficient to
answer the question but neither statement alone 1s sufficient.

(d) Mark choice (4) if both the statements I and II together are not
sufficient to answer the question and additional data 1s required.

TV Tl s Seblosntyra Ly LI 2001 AUy s
e L L sz A Stz TS v S A
IS Bl e (DD SISy ot L S5
_q_JK.fj_i,?n_;,,sfs’Jlrlugﬁ ‘Tt (a)
e 3L L 26D /ALy (b)
221 L3S D Lz s 2B Tl wlitess ) S S SAMLE  (©)
_4;-_[3(_*;*
S L sz i T ebtedns s/ SAdf@) 23y (d)
_9;”/:’&#:*;'}.5. 3]

% 1 0
What 1s the value of x in the matrix A =|1 2 3
34 x
L A 1s a singular matrix x10 - "
A=l123]| Saedfx
IL. A 1s a non-singular matrix 3 gk

-« MatrixwehLIA Sz, 1
-» Non MatrixJA J_2. 11

Options:



1.¥1
2. % 2
3. %3
4. % 4

Question Number : 16 Question Id : 6672695002 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



(i) Data Sufficiency
= Gl @)

Note: In questions numbered 1 to 20. a question is followed by data in the form

of two statements labeled as I and II. You must decide whether the data
given in the statements are sufficient to answer the questions. Using the

data make an appropriate choice from (1) to (4) as per the following

cuidelines:
(a) Mark choice (1) if the statement I alone is sufficient to answer the
question.

(b)  Mark choice (2) if the statement IT alone is sufficient to answer the
question.

(¢) Mark choice (3) if both the statements I and II are sufficient to
answer the question but neither statement alone 1s sufficient.

(d) Mark choice (4) if both the statements I and II together are not
sufficient to answer the question and additional data 1s required.

Tt ATl ez St af Z i Lk < 2001 Ay s
' e L L sk gt ST i/ dd
S e (DD Sy ot E e 50
e L Lz rloe /1 161 (@)
e 3L sz (D)1 /Mg (b)

2L S L e s 26 Tl eblesn ) S S ALY (0

-;:_J{._’.:-‘
S L s 1261 E P ettedns 1S/ A 225y (d)
_.;i‘_.:u:/:"d’ﬁr’ﬂ}.ﬁ. ‘Ut

C 1s a point on the line jomning B and E. D and A are point above BC such

that | DCE = ;{ACE. Is CD parallel to AB ?

.‘/UJL}TJIJI}IL/L‘JL;BC ‘A;;IDﬂ+:f-QCJJUdIJi£ Ex»B

ce$15 L CDY{ DCE = ACE.

| ABC 1s a scalene triangle

-« scalene triangle LIABC /2. 1
. BC=CE

BC=CE .1



Options:
1.%1
e %2
3. %3
4 ¥ 4

Question Number : 17 Question Id : 6672695003 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



(i) Data Sufficiency
:_‘2;57" JJU" (1)

Note: In questions numbered 1 to 20, a question 1s followed by data in the form

of two statements labeled as I and II. You must decide whether the data
given 1n the statements are sufficient to answer the questions. Using the

data make an appropriate choice from (1) to (4) as per the following

guidelines:
(a) Mark choice (1) 1f the statement I alone is sufficient to answer the
question.

(b)  Mark choice (2) if the statement II alone 1s sufficient to answer the
question.

(¢) Mark choice (3) if both the statements I and II are sufficient to
answer the question but neither statement alone 1s sufficient.

(d) Mark choice (4) if both the statements I and II together are not
sufficient to answer the question and additional data 1s required.

TV Tl s Seblosntyra Ly LI 2001 AUy s
e L L sz A Stz TS v S A
IS Bl e (DD SISy ot L S5
_q_JK.fj_i,?n_;,,sfs’Jlrlugﬁ ‘Tt (a)
e 3L L 26D /ALy (b)
221 L3S D Lz s 2B Tl wlitess ) S S SAMLE  (©)
_4;-_[3(_*;*
S L sz i FEPT ebiledns s/ Saf@) 2y (d)
_a::..:f.x:ﬁdfﬂfi'}.ﬂ. 9]

What are the co-ordinates of the point Q ?

_rco-ordinates< ¥ ZQ =

I Q lies on the straight line / whose slope 1s 3
o e e
..f_.B:E@f(ue{_l:'ﬁu#‘{, SIS Q2. 1
II. [ makes an intercept of 4 on y-axis

_+r/f44;x4y-axis g DT |

Options:
1. %1
2 ® D



3 ¥ 3
4. v 4

Question Number : 18 Question Id : 6672695004 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

(iy  Data Sufficiency
:.‘JJE"’ JJI!" (1)

Note: In questions numbered 1 to 20, a question 1s followed by data in the form

of two statements labeled as I and II. You must decide whether the data
given 1n the statements are sufficient to answer the questions. Using the

data make an appropriate choice from (1) to (4) as per the following
guidelines:

(a) Mark choice (1) 1f the statement I alone is sufficient to answer the
question.

(b)  Mark choice (2) if the statement II alone 1s sufficient to answer the
question.

(¢) Mark choice (3) if both the statements I and II are sufficient to
answer the question but neither statement alone 1s sufficient.

(d) Mark choice (4) if both the statements I and II together are not
sufficient to answer the question and additional data 1s required.

TV Tl s Seblosntyred Ly LiE 2001 AUy s
e 6L L sz AP Stz TS v S A
SISl e (DDt S 1y ot L S 5
-.;;.Jbiff_i{_;_,:m’dlrlg,lgﬁ‘l_,tz?'l (a)
e 3L L s 26D )1 /Ay (b)
221 L3S D Lz s 2B Tl whitess ) S S SAMLE  (©)
_.;;—_Jb“_u*
S L s 26 i T etiledns s/ Sadf(@) 2y (d)
_.;:'_:f;:ﬁJJFJ’.L"}j 9]

What 1s the number of divisors of »?
el DivisorsZn

L 1<n< 10.000
1=n<10.000 .I

IT. n = 6000
n=6000 .II

Options:



1. %1
2.9 2
3. %3
4. % 4

Question Number : 19 Question Id : 6672695005 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



(i) Data Sufficiency
:_‘2;57" JJU" (1)

Note: In questions numbered 1 to 20, a question 1s followed by data in the form

of two statements labeled as I and II. You must decide whether the data
given 1n the statements are sufficient to answer the questions. Using the

data make an appropriate choice from (1) to (4) as per the following

guidelines:
(a) Mark choice (1) 1f the statement I alone is sufficient to answer the
question.

(b)  Mark choice (2) if the statement II alone 1s sufficient to answer the
question.

(¢) Mark choice (3) if both the statements I and II are sufficient to
answer the question but neither statement alone 1s sufficient.

(d) Mark choice (4) if both the statements I and II together are not
sufficient to answer the question and additional data 1s required.

TV Tl s Seblosntyra Ly LI 2001 AUy s
e L L sz A Stz TS v S A
Sl e (D st Sy ot & st 5

_q_JK.fj_i,?n_;,,sfs’Jlrlugﬁ ‘Tt (a)

e 3L L 26D /ALy (b)

221 L3S D Lz s 2B Tl wlitess ) S S SAMLE  (©)
_;-_Jb“_u*

S L sz i FEPT ebiledns s/ Saf@) 2y (d)
_a::..:f.x:ﬁdfﬂfi'}.ﬂ. 9]

How manypositive integers are less than » and relatively prime to n?

—Urhie Neerb 1 E Uit < n Intergerset &

3 =2
—’,1 =3 it e
L n=2"57] =2 527 1

II. 1 1s composite : :
- Composite n. Il

Options:
1.v1

o ® oo
o ® 3



4 # 4

Question Number : 20 Question Id : 6672695006 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

(i)  Data Sufficiency
:.‘J;‘b"' JJU"‘ 6))

Note: In questions numbered 1 to 20. a question is followed by data in the form

of two statements labeled as I and II. You must decide whether the data
given in the statements are sufficient to answer the questions. Using the

data make an appropriate choice from (1) to (4) as per the following

guidelines:
(a) Mark choice (1) if the statement I alone is sufficient to answer the
question.

(b)  Mark choice (2) if the statement II alone is sufficient to answer the
question.

(¢) Mark choice (3) if both the statements I and II are sufficient to
answer the question but neither statement alone 1s sufficient.

(d) Mark choice (4) if both the statements I and II together are not
sufficient to answer the question and additional data 1s requured.

TSI e Seblsntred & LIt <2001 A 1os
' e QL L sz gt P Stz S v/ Ad
Sl e (DDt S 150y ot S Jeaf 5
-;;_Jﬁ’ii'.%.:_,ff&)lrlugﬁ‘l_,%:'l (a)
e 3L L s i26 - (ID )1 /Ay (b)
221 L3 D L s 2B Tl whitess ) S S AL (©)
_;:_JF_U:‘
SO L e s 26 EPTU ileydns 1 S IAS(D) 250 (d)
_.:L'_:.u:/:"J;Fy‘.L'IJ.E. ‘ut

What 1s the first term of the Geometric Progression ty. t,. 3 .....7

i{_g(}cmmctri:: ngrcssion&.ﬁgﬁbfth 5 1

1 t¢1t3=2 tq:t_q:?.I
II. ts=064 ts=64 .1II
Options:

1. %1



o ® oo
3. ¥ 3
4 % 4

Sub-Section Number: 2
Sub-Section 1d: 667269504
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 6672695007 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
(if) Problem Solving

St Il

(a)Sequence and Series

VPRI od

Note: In each of the questions numbered 21 to 30. a sequence of numbers or
letters that follow a definite pattern i1s given. Each question has a blank
space. This has to be filled by the correct answer from the four given

options to complete the sequence without breaking the pattern.
ﬁigﬂjd{;ﬁ‘:ﬁﬁyggujmlgg@/ﬂ;{ uuﬂbgt{‘_)lfﬁd:.«ﬂlrﬂthl ‘L
@4 iLﬁg‘ufﬁa.i:/i".:fﬁ.«lﬁgm.,.-fl:f)/u’?,f_.ll'éj,fgdﬁ ‘UIs
G I s # Pattern 1 Se g L

29343 6859.
(1) 3375
27, 343, 6859
(2) 1331 re—
3375 (D)
(3) 2197
1331 (2)
(4) 1728
2197 (3)
1728 (4)
Options:
1. %1
2 ® D
3.9 3

4 % 4



Question Number : 22 Question Id : 6672695008 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
(ii) Problem Solving

St Il

(a)Sequence and Series

VPRI e

Note: In each of the questions numbered 21 to 30. a sequence of numbers or
letters that follow a definite pattern i1s given. Each question has a blank
space. This has to be filled by the cormrect answer from the four given

options to complete the sequence without breaking the pattern.
,f-ff_ﬂ;d’-’.:rlﬂé.Lj(umlf_g@;l}l; unﬂugﬂjlf,fd.:ﬂlrﬂ}tﬂl A
=@ 14 ri.Lﬂbuffg.t/faflﬁéﬂ;:l?ﬁb‘)(u’?;f_.féj.;dlé ‘Jis
S S w2 s # fPatterny1 S L

7.3.8. M S

(H 2 138 95
(2) 10
(3) 6
@ 4 2
10 ()
(3)
4 4
Options:
1. %1
> ® 2
3 ¥ 3
4 ¥ 4

Question Number : 23 Question Id : 6672695009 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



(ii) Problem Solving
St Il

(a)Sequence and Series

VPRI e

Note: In each of the questions numbered 21 to 30. a sequence of numbers or
letters that follow a definite pattern i1s given. Each question has a blank
space. This has to be filled by the cormrect answer from the four given

options to complete the sequence without breaking the pattern.
ﬁ-;ﬂ;d{;:jgﬂé.g'(umlg@ﬁfﬂ;{ unﬂugfg)lf,fd:fﬁlr3{}?2l A
=@ 14 i.Lﬂ?"‘uffﬁ;.i:/f:fflﬁg;:l?ﬁb‘)(u’?;f_.fﬂ*j.;dlé ‘Jis
= :/L;f J“Lj i w2 57 Pattern 1 Sop Ll

LL. S, = 4

(1) & ) Y
@)
(3

C)

E (1)
G (@
F &
H &

o L I oy W

Options:
1. %1
2 %
3. v 3
4 # 4

Question Number : 24 Question Id : 6672695010 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



(ii) Problem Solving
St Il

(a)Sequence and Series

VPRI e

Note: In each of the questions numbered 21 to 30. a sequence of numbers or
letters that follow a definite pattern i1s given. Each question has a blank
space. This has to be filled by the cormrect answer from the four given

options to complete the sequence without breaking the pattern.
ﬁ-;ﬂ;d{;:jgﬂé.g'(umlg@ﬁfﬂ;{ unﬂugfg)lf,fd:fﬁlr3{}?2l A
e l@i4 iLﬁ*“u‘i{_r/f;?l,eéﬂ;:I.,.wl:ffu’?f_t‘é’;,l?du ‘Uis
= :/L;f J“Lj i w2 57 Pattern 1 Sop Ll

Z.W.Q Vv

1 H Z.W.Q V

2 I

3 G H (1)

@ 1 I @
G (3)
L iy

Options:

1.v1

o ® 2

3 % 3

4 % 4

Question Number : 25 Question Id : 6672695011 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



(ii) Problem Solving
St Il

(a)Sequence and Series

VPRI e

Note: In each of the questions numbered 21 to 30. a sequence of numbers or
letters that follow a definite pattern i1s given. Each question has a blank
space. This has to be filled by the cormrect answer from the four given

options to complete the sequence without breaking the pattern.
ﬁ-;ﬂ;d{;:jgﬂé.g'(umlg@ﬁfﬂ;{ unﬂugfg)lf,fd:fﬁlr3{}?2l A
=@ 14 i.Lﬂ?"‘uffﬁ;.i:/f:fflﬁg;:l?ﬁb‘)(u’?;f_.fﬂ*j.;dlé ‘Jis
= :/L;f J“Lj i w2 57 Pattern 1 Sop Ll

170. 1332, 50. . 10.

(1) 82 170, 1332. 50, 10

) 73

(3) 120 2 (1)

(4) 126 5 @
120 (3)
126 (4)

Options:

1. %1

o ® oo

3 %3

4 ¥ 4

Question Number : 26 Question Id : 6672695012 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



(ii) Problem Solving
St Il

(a)Sequence and Series

VPRI e

Note: In each of the questions numbered 21 to 30. a sequence of numbers or
letters that follow a definite pattern i1s given. Each question has a blank
space. This has to be filled by the cormrect answer from the four given

options to complete the sequence without breaking the pattern.
ﬁ-;ﬂ;d{;:jgﬂé.g'(umlg@ﬁfﬂ;{ unﬂugfg)lf,fd:fﬁlr3{}?2l A
e l@i4 iLﬁ*“u‘i{_r/f;?l,eéﬂ;:I.,.wl:ffu’?f_t‘é’;,l?du ‘Uis
= :/L;f J“Lj i w2 57 Pattern 1 Sop Ll

6FL ;: 91IR : o {2 |
(1) ME
(2) 2BD 3CE (1)
(3) 4DF 2BD (2
SHP (4)
Options:
1. %1
2. 2
3 %3
4 % 4

Question Number : 27 Question Id : 6672695013 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



(ii) Problem Solving
St Il

(a)Sequence and Series

VPRI e

Note: In each of the questions numbered 21 to 30. a sequence of numbers or
letters that follow a definite pattern i1s given. Each question has a blank
space. This has to be filled by the cormrect answer from the four given

options to complete the sequence without breaking the pattern.
ﬁ-;ﬂ;d{;:jgﬂé.g'(umlg@ﬁfﬂ;{ unﬂugfg)lf,fd:fﬁlr3{}?2l A
=@ 14 i.Lﬂ?"‘uffﬁ;.i:/f:fflﬁg;:l?ﬁb‘)(u’?;f_.fﬂ*j.;dlé ‘Jis
= :/L;f J“Lj i w2 57 Pattern 1 Sop Ll

Book: Publisher: : Film :

:(G:}:]-'-.-:L;ELT.

( 1)Director Ky
( 2) Editor
( 2)Script Writer 2kl (2)

(4)Producer

A3y @

pipg W

Options:
1. % 1
o %D
3 %3
4 ¥ 4

Question Number : 28 Question Id : 6672695014 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



(ii) Problem Solving
St Il

(a)Sequence and Series

VPRI e

Note: In each of the questions numbered 21 to 30. a sequence of numbers or
letters that follow a definite pattern i1s given. Each question has a blank
space. This has to be filled by the cormrect answer from the four given

options to complete the sequence without breaking the pattern.
ﬁ-;ﬂ;d{;:jgﬂé.g'(umlg@ﬁfﬂ;{ unﬂugfg)lf,fd:fﬁlr3{}?2l A
=@ 14 i.Lﬂ?"‘uffﬁ;.i:/f:fflﬁg;:l?ﬁb‘)(u’?;f_.fﬂ*j.;dlé ‘Jis
= :/L;f J“Lj i w2 57 Pattern 1 Sop Ll

RAM: UGV : : CAT:

1. FGV
Z FCG
i BGE FGV 1.
4.  GFC FCG 2,
FGC 3.
GFC 4.
Options:
1. %1
o %o
3¢z
4 # 4

Question Number : 29 Question Id : 6672695015 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



(ii) Problem Solving
St Il

(a)Sequence and Series

VPRI e

Note: In each of the questions numbered 21 to 30. a sequence of numbers or
letters that follow a definite pattern i1s given. Each question has a blank
space. This has to be filled by the cormrect answer from the four given

options to complete the sequence without breaking the pattern.
ﬁ-;ﬂ;d{;:jgﬂé.g'(umlg@ﬁfﬂ;{ unﬂugfg)lf,fd:fﬁlr3{}?2l A
=@ 14 i.Lﬂ?"‘uffﬁ;.i:/f:fflﬁg;:l?ﬁb‘)(u’?;f_.fﬂ*j.;dlé ‘Jis
= :/L;f J“Lj i w2 57 Pattern 1 Sop Ll

= |

t | 4

[

(D
2
(3

th =
-
e
=
-

(4

L TR - N %
ot
Lad
-

Options:
1. %1
o ® oo
3.3
4 % 4

Question Number : 30 Question Id : 6672695016 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



(ii) Problem Solving
St Il

(a)Sequence and Series

VPRI e

Note: In each of the questions numbered 21 to 30. a sequence of numbers or
letters that follow a definite pattern i1s given. Each question has a blank
space. This has to be filled by the cormrect answer from the four given

options to complete the sequence without breaking the pattern.
ﬁ-;ﬂ;d{;:jgﬂé.g'(umlgggﬂ;{ unﬂugfg)lf,fd:fﬁlr3{}?2 |
=@ 14 ri.Lﬂbuffﬁ;.tjf;flﬁéﬂ;:l..,.-ﬁl}‘)'/u’?;f_.tﬁj.;dlé ‘Jis
= :/L;f J“Lj i w2 57 Pattern 1 Sop Ll

O 300X
Ly SE
(2) 24
B 9
P2 1)
(4) 18
24 (2)
9 (3)
18 (4)
Options:
1. %1
o 8o
3. ¥ 3
4 % 4
Sub-Section Number: 3
Sub-Section 1d: 667269505
Question Shuffling Allowed : Yes

Question Number : 31 Question Id : 6672695017 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



Note: In questions numbered 31 to 35 pick the odd thing out:

2 e 235631 A tliyiid

(1) Chord
(2) Radius

Chord (1)
(3) Circumference Radivs ()
(4) Dia gc}na] Circumference (3)

Diagonal (4)

Options:
1. %1
2 %
3 %3
4 ¥ 4

Question Number : 32 Question Id : 6672695018 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
Note: In questions numbered 31 to 35 pick the odd thing out:

B2 e 235631 A elliyiss

(1) Crow
(2) Parrot 17 (1)
(3) Eagle L (2)
(4) Duck
L3
0
Options:
1. %1
o %oz
3 %3
4. v 4

Question Number : 33 Question Id : 6672695019 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



Note: In questions numbered 31 to 35 pick the odd thing out:

2 e 235631 A tliyiid

(1) S ¥ —2xy
X+y=2v (1)
t+y+2axy (2)
¥ =y +2wx (3)

(4) 47 -4Bxy +3y° 47 - 4By +37 @)

(2) x+y+2dy

i —,1‘3 +2yx

Options:
1. % 1
o %D
3. ¥ 3
4 % 4

Question Number : 34 Question Id : 6672695020 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Note: In questions numbered 31 to 35 pick the odd thing out:

2l e 235631 A lliyriss

(1) 62
2) 59 62 (1)
: 39 ()
3 f
2 ® 67 (3)
4 73 3 @

Options:
1.v1

o B oo
3 ® 3
4 % 4

Question Number : 35 Question Id : 6672695021 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



Note: In questions numbered 31 to 35 pick the odd thing out:

2 e 235631 A tliyiid

(1) Hyderabad i D
(2)  Mumbai v
(3) Bhuvaneshwar

(4) Indore &I Q)

#A (3)

Iy (4)

Options:
1. %1
o ® 2
3 %3
4 ¥ 4

Sub-Section Number: 4

Sub-Section 1d: 667269506

Question Shuffling Allowed : Yes

Question Number : 36 Question Id : 6672695022 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 1 Wrong Marks: O

Note: Each of the questions from 36 to 45 follows a definite pattern. Observe the

same and fill in the blanks with suitable answers.

U b etz sirs S of e W31 Al SeLI 45536 1o

_;Jf{f:r'
9. , 126,48, 1332,168
| g 9. ,126.48.1332.168
3. 9 10 (@
T > O
12 @
Options:

1.9¥1



2 ® 3
3 %3
4 % 4
Question Number : 37 Question Id : 6672695023 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 1 Wrong Marks: O
Note: Each of the questions from 36 to 45 follows a definite pattern. Observe the

same and fill in the blanks with suitable answers.

u,-rg-du.:.:,t,lﬁg:ﬁf:/ﬁ:;-q_lfw/.uiﬁgfyhjl&bgﬁ_—,urrdlﬁtﬁﬂ L

Brsrh
DOG. HDN. PHB.
(1) ABW
(2) BAW ABW (1)
BAX (4)
Options:
1. %1
oD
3 %z
4 % 4

Question Number : 38 Question Id : 6672695024 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



Note: Each of the questions from 36 to 45 follows a definite pattern. Observe the

same and fill in the blanks with suitable answers.
:.,,':rg-du;._muﬁugjmﬁi-ag. l,@?;l}g JJMJ'L-:» LIte 45636 1od
S

ziL.6 E

LAl L
Yy K K (1)
2) M M (2)
3y 1 I (3)
(4) N N (4)
Options:
1. %1
o %D
3. ¥ 3
4. v 4

Question Number : 39 Question Id : 6672695025 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 1 WrongMarks: 0

Note: Each of the questions from 36 to 45 follows a definite pattern. Observe the

same and fill in the blanks with suitable answers.
:.,,',-rg-du;._wuﬁuﬁnﬁf-;;. lﬁrﬂ;l}g :'/JMJ'E LIt 45036 od
W

1.4.8.11.22. 14BNV 92
Q) 25 25 (1)
(2) 33 33 (2)
(3) 26 26 (3)
4) 44 44 (4)

Options:

1.9 1

o & o

3 ® 3

4 # 4



Question Number : 40 Question Id : 6672695026 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Note: Each of the questions from 36 to 45 follows a definite pattern. Observe the
same and fill in the blanks with suitable answers.
Ut btz niss Jo8 - W7 1o 1eed S L=t 45636 (s
_;J’:;f s

A2A,DIE, Glel

A2A, DIE, Glél

(1) K3z2U
2) 71320 k32U (D
(3) 1230 J 320 (2)
@) 1250 J230 (3
1250 (4)
Options:
1.1
2 & 2
3 % 3
4 % 4

Question Number : 41 Question Id : 6672695027 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Note: Each of the questions from 36 to 45 follows a definite pattern. Observe the

same and fill in the blanks with suitable answers.

U e zUsirs /of — e TSI 45 Ly 45636 s

_;Jig:f
EDU. IGS, . QMO
EDU. IGS. . QMO
(1) MIQ
/ 1
2) UPN MIQ (1)
(3) MIP UPN (2)
- 3
@ LIQ MIP (3)
LIQ (4)
Options:
1.1
2 & 2

3 %3



4 # 4

Question Number : 42 Question Id : 6672695028 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
Note: Each of the questions from 36 to 45 follows a definite pattern. Observe the

same and fill in the blanks with suitable answers.

U Qb etz Usins o e W31 Nealis L= 45036 1o

_u't;f:'#
BAT, EVA, . QFU,
(1) HMI YTI BAT.EVA. _QFU.
HMI YTI (1
(2) JOI, ZUH , (1
JOI. ZUH (2)
(3) KOK.HUX T )
(4) IMH.TYI IMH. TYI (4)
Options:
1. %1
2 2
3 ¥ 3
4 % 4

Question Number : 43 Question Id : 6672695029 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 1 WrongMarks: 0

Note: Each of the questions from 36 to 45 follows a definite pattern. Observe the

same and fill in the blanks with suitable answers.

UrE 8o el 2Usirs 18 - 13 1S P S L2 W1 A5E36 s

-’4’2’:;
6.3, 1,025,
6.3.1.025.
(1) 0.0083 0.0083 (1)
(2) 0.05 o 9
0.5 (3)
(3) 05 0.005 (4)
(4) 0.005
Options:
1. %1
2 WD

3 %3



4 # 4

Question Number : 44 Question Id : 6672695030 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
Note: Each of the questions from 36 to 45 follows a definite pattern. Observe the
same and fill in the blanks with suitable answers.
U Qb et zUsirs S of e A3 Sl rd536 1w
.3/'153'/
XYL AAXHY, X-YE 22X 2V E2+Y),.2(X-%) 7},

{ ; }
0y 3X.3Y (1)
s 3X+Y)L3IX-Y) @
(2) 3X+Y).3X-Y) _
4X, 4Y (3)
(3) 4X.4Y

AXA4Y). 4X-Y) (4)
4) 4XA+Y).4X-Y)

Options:
1. %1
o %oz
3. ¥ 3
4 % 4

Question Number : 45 Question Id : 6672695031 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Note: Each of the questions from 36 to 45 follows a definite pattern. Observe the

same and fill in the blanks with suitable answers.

U o el zusirs St e K117 f P P L1 45836 s

_;J:;f:'/
2+ 6.4+20, 6+a2.
S 8+ (1)
9 B R+y@E Q)
(3) 8+ 414 Gafr 15
4) 8+347 8+341 (4)
Options:
1.¥1

o B oo



3 ¥ 3
4 % 4

Sub-Section Number: 5
Sub-Section 1d: 667269507
Question Shuffling Allowed : Yes

Question Id : 6672695032 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No
Question Numbers: (46 to 48)

Note: The following passage to be analyzed for answering the questions

L Fd Levnl =iy Passage i 1os

Study the following Bar diagram carefully and answer questions 46 to 48.

12 L4846 = s S S 8 ifrl/? B e

30
20
-
0
2000 2001 2002 2003 2004 2005

Question Number : 46 Question Id : 6672695033 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Production of Food Grains
{in Thousands of Tonnes

Sub questions

The average food production (in Tonnes) from 2001 to 2005 1s

e st 52200562001 (eI aeS Lokt

(1)  50.000
(2)  40.000 000 )
(3)  45.000 40.000 (2)
@) 55.000 45.000 (3)
55.000 (4)
Options:
1.v1

o ® oo



3 ¥ 3
4 % 4

Question Number : 47 Question Id : 6672695034 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
The ratio between the increase in production between 2000 and 2003 and

2000 and 2005 1s:

Ls 8 S ezl 13 Z 2005 52000, 152 2003 52000

(1) 32 -l

S: - 32 M

: 13 (D)

& 9% 33 (@)

52 4
Options:
1. %1
o ® 2
3. % 3
4. 9 4

Question Number : 48 Question Id : 6672695035 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



The approximate percentage increase in production of food grains from

2001 to 2003 1s.

el St a5 P4z £ 46200302001 b

(1) 15.66%

(2) 15.03% 15.66% (1)
(3) 16.66% 15.03% (2)
(4) 16.075% 16.66% (3)

16.075% 4

Options:
1. %1
o %oz
3. ¥ 3
4 % 4

Sub-Section Number: 6
Sub-Section 1d: 667269508
Question Shuffling Allowed : Yes

Question Id : 6672695036 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (49 to 53)



Note :The marks obtained by a student in the examunation m (A) Mathematics
(B) English (C) Telugu, (D) Social Science (E) Science are depicted in the
following Pie Diagram. Based on this data answer the questions 49 to 33.

S D FCI2F Bl (A et s LuPie A F bl 10s
<2 [’lf? sPieti— /. L (B)

Sub questions

Question Number : 49 Question Id : 6672695037 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
If the student secured 150 marks in A how many total marks did he secure

in the complete exanunation?

(1) 360
(2) 450
(3) 600
(4) 1000

S Lot EF Mot I TS S ot 150 2A 4 S

1000 (4) 600 (3) 450 2) 360 (1)

Options:
1. %1
o %oz
3. ¥ 3
4 % 4

Question Number : 50 Question Id : 6672695038 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



The ratio of the marks obtained by the student in Mathematics and Telugu.

(1) 119
) 15:13
(3) 18:13
4) 19:14

_,f_tf‘g;ptutjf’.__ztfb’aub?é_ﬁiJ‘lp;,.__..il._.:-{,f,_ib;tﬁ'm._..u.

11:9 (1)
15:13 (2)
18:13 (3)
19:14 (4)

Note: For this question, discrepancy isfound in question/answer. Full Marksis being awarded to all
candidates.

Options:

1.1

2 2

3 3

4. 4

Question Number : 51 Question Id : 6672695039 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0
If a student has scored 150 marks 1 Mathematics, how many marks did he

score m social science?

(1) 100
@) 105
3) 110
) 120

.-HL-'{Jul'Jip.:-L‘LT'JEJ:H‘LEi*n:_f";l-'a;s:_'_.l.';rfb.:l.?i.‘?}1SGJU'BLJH‘.TJLE_Q)"*.

100 (1)
105 2)
110 (3)
120 (4

Note: For this question, discrepancy is found in question/answer. Full Marksis being awarded to all
candidates.

Options:

1.1

2 2

z 3

4. 4



Question Number : 52 Question Id : 6672695040 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 1 WrongMarks: 0

What 15 the percentage of the total marks scored by the student in C.D and

E put together?

tnl o lal I bV et ) ZEACD LF bl

_.@y_r':yfd adlfati
(1) sz
@) s58= S W
; e
@) 60 sa; ¢
L@
) ﬁli 60~
stk

Note: For this question, discrepancy is found in question/answer. Full Marksis being awarded to all
candidates.

Options:

1.1

2 2

3 3

4. 4

Question Number : 53 Question Id : 6672695041 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



If a sadent got 150 marks in A how many marks did he get in D & E put

together?

'3
(1) 240
@ 2412
(3) 245

3
@ 245

Fe oS et LEMD 67 P et SOLA ™ A b L.

Ay ST Y
1
zamE 8]
2 b
241> (2
245 (3)
3453i “)

Note: For this question, discrepancy is found in question/answer. Full Marks is being awarded to all
candidates.

Options:

1.1

2 2

3 3

4. 4

Sub-Section Number: 7
Sub-Section | d: 667269509
Question Shuffling Allowed : Yes

Question Id : 6672695042 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (54 to 55)



Note: The following passage to be analyzed for answering the questions

(Q. No. 54 to 55)

L F L Lepnl iy /Passage fi 12

(Q No 54 to 55)

In a class of 60 students. 23 play Hockey. 15 play Basketball and 20 plays
Cricket. 7 play Hockey and Basketball, 5 play Cricket and Basket Ball, 4
play Hockey and Cricket, and 15 students do not play any of these games.

Using this data. answer the questions 34 and 55.
£ ‘L SLN0 el P15 g L 23 Sesladin 60 L
S tNEI5 ST Sl L24 ‘WS TLEIS ‘Il aidl
el 2L 55554 2 v s S w128t L

Sub questions

Question Number : 54 Question Id : 6672695043 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
The number of students who play Hockey, Basketball and Cricket 15

(1) 3
@ 3 i P L2 el sS4
(3) 11
g8 (2)
11 (3)
6 4
Options:
1.v1
2 ® 2
3 % 3
4 ® 4

Question Number : 55 Question Id : 6672695044 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



The number of students who play Cricket and Hockey but not Basketball 15

SN I =l ;LJ#J_!:£UL:I;JJ/(

(1) 4 4 (1)
2y 2
gy
3 3
1 @
Options:
1. %1
2 %z
3 %3
4 ¥ 4
Sub-Section Number: 8
Sub-Section 1d: 667269510
Question Shuffling Allowed : Yes

Question Id : 6672695045 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (56 to 60)



(¢) Coding and Decoding Problems

el L3S a3

Note: The letters A, B, C. ... Z of the English Alphabet are numbered 1. 2 .._____,
26 respectively. A Code 1s designed by the following mle:

Lo § bk, 2 ..., 260596 F o7 L3 FIA, B, C, .. Zsr7isd
,;-l‘_l...:i-'fjl.}':.; LJs ||,.,,t5.__.-r? S

Rule: The ith the letter 1s coded as the jth letter where j=3i+2 (mod 26). The

reverse process 1s followed for decoding.

&

decoding /F ;L1 3142 qli-e VWS pb Lois 2 T sz Fid
& )2 Zmode 26)

Example: The 9™ letter I is coded as C because. 3 X 9 + 2 (mod 26) is 29 (mod
26) which 1s 3 and the letter C is numbered as 3. Based on this coding
procedure answer the questions 36 to 60.

3X9+2(mod26)is29 JUdl

W LCIL a7 9 e
= ﬂff_éjk;:i..:ﬂ_ Ve jﬁrJ!_.;l'_ IE.J‘;L'A’-’;;U:: 3ESC s ;JF;:_SK “(mod 26)

_:::leﬁLSﬁEﬁﬁ

Sub questions

Question Number : 56 Question Id : 6672695046 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
The code for COMPUTER 157
e i3l
(1) KUOXMIQD COMPUTER
(2) KUPYNLRE
(3) EKVPXMQID
(49 EKVOXNIQD

KUOXMIQD (1)
KUPYNLRE (2)
KVPXMQID  (3)
KVOXNIQD (4)

Options:



1.1
o %o
3 %3
4 % 4

Question Number : 57 Question Id : 6672695047 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
What 15 the code for STATE?

(1) GSESP - 3K STATE
(3 BRG GSESP (1)
(3) GIFIP GIEIQ 2
) hgR GIFEIP (3
GQEQR (4
Options:
1. %1
o oW o
3 % 3
4 % 4

Question Number : 58 Question Id : 6672695048 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Which word 1s codedas F UL LY 7

,.?WL;JTULLY S

31 SILLY
& R SILLY D
% {DLLY JETTY @
(3 aliREsE JoLLy @
SORRY @

Options:

1. %1



o ® oo
3. ¥ 3
4 % 4

Question Number : 59 Question Id : 6672695049 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
The number of letters of the alphabet that remain unchanged in this coding
1S -

SNV VIR Y. P RIS LT iy - {7

() 4
2 1 4 (1)
3 3 1 @
) 2 3 3
2 @
Options:
1. %1
2 ® 2
3 %3
4 ¥ 4

Question Number : 60 Question Id : 6672695050 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
What 1s the code for MANAGER?

() OEREWQD et Ui Uf L L 2,
2) OFSFWPD
3) OGRGVQE
4 OHQHURD

OEREWQD (1)
OFESFWPD (2)
OGRGVQE (3)
OHQHURD )
Options:
1.v1
o ® 2
3 % 3
4 % 4

Sub-Section Number: 9
Sub-Section Id: 667269511
Question Shuffling Allowed : Yes

Question Id : 6672695051 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (61 to 65)



Note: The following passage to be analyzed for answering the questions
= e 7 . -
b AL ezl e Passagetfic” 1os
Sub questions

Question Number : 61 Question Id : 6672695052 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
If “CHENNAI" 1s coded as "XSVMMZR" than “MUMBAI" 1s coded as

' ek = e o~ w Y f
et U T3 P £ “XSVMMZR i/,

(1) NONAYR
(2) LFLYZR

(3) OFOXZR
(4) NENYZR

NONAYR (1)
LFLYZR (2
OFOXZR (3)
NENYZR 4

Options:
1. %1
o %oz
3 %3
4. v 4

Question Number : 62 Question Id : 6672695053 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
If “PUNE" 1s coded as “QXSL", then the code for “CUTE" 1s

e el T CUTRE et U3 b L“QXSL”, /.,

() EXZL

(2) DXYL EXZL. (1)

(3) CXYL DXYL (2)

(4) FXAL CXYL )
FXAL )

Options:

1. %1

2. 2

3 ® 3



4 # 4

Question Number : 63 Question Id : 6672695054 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
If "MAHATMA® 1s coded as "PDEKAQJX" then "KRISHNA" 15 coded as

‘MAHATMA®

(1) NULSKEX
(2) NULSXEX
(3) NULSEXM
(4) NULSEKX

LSS Sls € b bl WSS S “PDEKAQIX” S Ll £

NULSKEX (1)

NULSXEX (2)

NULSEXM (3)

NULSEKX (4
Options:
1. %1
o %2
3 %3
4 ¥ 4

Question Number : 64 Question Id : 6672695055 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
If ©“ RING 1s coded as “SIMF then which of the following 1s coded as

“GSNE™?

(1) FIGO
() FRUG
(3) FROG
(4 FORK

et Tl s L4SIMF“ RING” /.

K2 LU “GSNF”Y/

FIGO (1)
FRUG (2)
FROG (3)
FORK )

Options:



1. %1
o %o
3 ¥ 3
4 % 4

Question Number : 65 Question Id : 6672695056 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

If 2018 1s coded as “79817 then 19477 is the code for

(1) 8153
(2) 8052
(3) 8025
(4) 8513

LS w1947 2 o\ 3 b £79817/4201875.4)

Wl
8153 (1)
8052 (2)
8025 (3)
8513 (4)
Options:
1. %1
o Wz
3 % 3
4 % 4
Sub-Section Number: 10
Sub-Section Id: 667269512
Question Shuffling Allowed : Yes

Question Number : 66 Question Id : 6672695057 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



d)  Date, Time &Arrangement Problems

:;lflr&"’ P 5 P S ‘EJJL" i)
If today 1s Friday, then the day after 183 days will be

(1) Sunday
Oy Wediesdsy s L U9s1857 5 52101,
(3) Tuesday
(4) Monday A (1)
,.Aﬁ,-'b?_? (2)
B €)
b (4)
Options:
1. %1
o 8o
3 %3
4 9 4

Question Number : 67 Question Id : 6672695058 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



d)  Date, Time &Arrangement Problems

:;lflr&"’ P 5 P S ‘EJJL" i)
At what tine between 70 clock and 80 clock will the two hands in the

clock be at nnght angles to each other?

(1) ?.45{%
2) ?.55{%
3) ?.48{%
@ 746

GHS L Ui Ghep Sy 2380 9l 270
2 & o2 E‘jE :“".'JSC:'

?.45; (n
74 5:3H @
?.48; (3)
?_46; (€))]

Options:

1. %1

o WD

3 ® 3

4 % 4

Question Number : 68 Question Id : 6672695059 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



d)  Date, Time &Arrangement Problems

:«lﬂr&w e el e Bt (0

If a clock takes 20 seconds to strike 11, how many seconds will it take to

strike 57
1 8
@ 5
(3) 6
L am s iz Wy
SLIET L L0 655 F 208 Lo ix1154 4.0
8 (1)
3 2
6 (3)
10 (4
Options:
1.9 1
o ® 2
3 % 3
4 % 4

Question Number : 69 Question Id : 6672695060 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



d)  Date, Time &Arrangement Problems
:«lﬂr&w e el e Bt (0

P says “my father 15 the only son of Qs mother and A, () are sisters™. If R
1s grandfather of A: B 1s (O's son then how 1s P related to B?

(1) Brother
(2) Cousin
(3) Father
(4) Uncle

Ao Q o)A pbunaiis K Seall; SQs e e S GS P
Baadipl€ _wBEPWi. s EInKQ B slbhKA R

Brother (1)

Cousin (2)

Father (3)

Uncle (4)
Options:
1. %1
2. ¥2
z %3
4 % 4

Question Number : 70 Question Id : 6672695061 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



d)  Date, Time &Arrangement Problems
:.—lflr&w P 5 P S ‘EJJL" i)
Ram left office for the bus stop 15 munutes early. It takes 23 munutes for

him to reach bus stop. Due to traffic he reached 10 munutes late and nussed

the bus. How much time did he take to come to bus stop?

(1) 30 munutes
(2) 25 munutes
(3) 50 munutes

(4) 40 munutes

K25 SN L& sg E_Id ST L i dLa15E oL,

=

- i ) i -~ it i . ey
i_fi.;’_i.ffufu-luﬁaddd‘fuﬁmgféa,ﬁ?& 10 e 230 ...gi;njkj_.g_ﬁs’__:‘:

_B=3EY
Cia 30 (1)
Gia 25 (2)
e 50 (3)
Giia 40 (4)

Options:

1. %1

o %oz

3. ¥ 3

4 % 4

Question Number : 71 Question Id : 6672695062 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



d)  Date, Time &Arrangement Problems

:.—lflr&w P 5 P S ‘EJJL" i)
A tramn leaves Hyderabad at 6:10 am. and reaches Warangal at 9:25 am.

The average speed of the train 15 44 Kmph. Then the distance from

Hyderabad to Warangal in km 1s:
(1) 130
{2) 135
(3) 143
(4) 140

A4 5 b 5S-G £9:25 S P isime 58 = ATus> £6:10 528 L L.

jﬁﬁ/‘fﬁiﬁﬁfﬁﬂ;;ﬁ;f%nf_ ..’.-'-;U}fJJ:'H

130 (1)
135 (2)
143 (3
140 (4

Options:

1. %1

o 8o

3. v 3

4 % 4

Question Number : 72 Question Id : 6672695063 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



d)  Date, Time &Arrangement Problems

:«lflr&w e el e Bt (0

A F are mn different rows and columns B 1s opposite to F and H 1s
opposite to D, who 1s in the same row as that of A. E and G are neighbors
of F. If the person sitting in the rows faces each other and C 15 immediate

right to D. then who 15 diagonally nearest to D?

1 H
D F
3 G
4 B

Pe ) Hole 38 ZF "B g A6 nirows il Udss FulA
Lt frow STz o izl F Gk e JEUEGILA

ce it e Fade D) e intldt e Fme 1) Ol Catlel b 1

H (1)
F (2)
LER )
B 4

Options:

1. %1

o ® 2

3 v 3

4 % 4

Question Number : 73 Question Id : 6672695064 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



d)  Date, Time &Arrangement Problems

:«lﬂr&w e el e Bt (0

If + means = . -means x. ~means + and x means —

Then the valueof 16 +4+-5—3x 118

(1 20
(2) 18
3) 14
@ 02

a
VISt means +, - means x, ~ means + and x means —./ .

16+4=5-3x 1. Ssfedfanl

20 (1)

18 (2)

14 (3)

02 (4
Options:
1. %1
2 2
3 % 3
4 % 4

Question Number : 74 Question Id : 6672695065 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

d)  Date, Time &Arrangement Problems

.:.-lflr;:’w e Wsleds B (9

2,22 ek
a% =ﬂ +b _.a::.ﬁ_b:}[;:,w:
1*3
111
)
121 Xk .
(2} 100 :’I*b=ﬂ +b ,ﬂ}ﬂ:biﬂ:w=
e ab 1*3
@ =
3 w B
123
) = 121
200 Fok Dy
100 @)
123
s @)
123
4)

200



Options:
1. % 1
o %D
3 %3
4 ¥ 4

Question Number : 75 Question Id : 6672695066 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
d)  Date, Time &Arrangement Problems
:-lflru"" e sl =3y ‘f}ﬁ:’ i)
If the symbols *. #. (@. £ represent addition. subtraction. multiplication and

division respectively then:

(15* ) @(1248)£(1542)
(1583)@12*DEG*S)

1) 4
&)y 3
3) 1
4 0

H‘:;USLEJJZTLETE/:JL’!T{}I ;3I..__..,ﬁ";,-l|,;f}~7 T, @, £L/f‘ﬂ"'/r'-

(15* ) @1248)£(1542)
(153)@(12*8)£(5*5)

4 (1)
3 (2)
1 @3
0 4

Note: For this question, discrepancy isfound in question/answer. Full Marksis being awarded to all
candidates.

Options:
1.1
22
3.3
4. 4
Mathematical Ability
Section Id : 66726974
Section Number : 2
Section type: Online

Mandatory or Optional: Mandatory



Number of Questions: 75

Number of Questionsto be attempted: 75

Section Marks: 75

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 667269513
Question Shuffling Allowed : Yes

Question Number : 76 Question Id : 6672695067 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

(1) Arithmetical Ability
@;‘;G’QL’@

(red) -8
.1‘: a+b a b
o (el () _
@ (&) [t -4
@) (x+y)™ (—)b (1)
@ (x-y)° o
e
I{ X+ "I--'}ﬂ-'-b (3)
(x—1 ]‘HJ (4)
Options:
1.9 1
2 % 2
3% 3
4 % 4

Question Number : 77 Question Id : 6672695068 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



(1) Arithmetical Ability

FL-Q

3 =57 =75 = ¢(2a+b)=

(1) a+b
@) ab 5t 75 = c(2a+b)= S
(3) a—b
-1
() (%) a+b (1)
ab (2)
a—-b (3)
T |
(aB) " (a
Options:
1. %1
e g
3 % 3
4. # 4

Question Number : 78 Question Id : 6672695069 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

(1) Arithmetical Ability

AR EC

ab:bc.ca=3:1:2 :;,ii —
bc ca

() 14 ab:bc:ca=3:1:2 :>—:— = J/J’

) 41 be ca

(3) 43 14 (1)

4 21 41 (2)
4:3 (3)
2:1 (4)

Options:

1. %1

oo



3 ¥ 3
4 % 4

Question Number : 79 Question Id : 6672695070 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

(1) Arithmetical Ability
::‘;G'QL?O

a-b=3:5:ab=2535 = a+b =

(1) 104

(2) 108 a:b=3:5:ab=2535 =a+b =,+,fu*?

(3) 112

(4) 116 N
108 (2)
112 (3)
116 (4)

Options:

1.9 1

o %o

3 % 3

4 % 4

Question Number : 80 Question Id : 6672695071 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
(1) Arithmetical Ability
::‘;l?(él.?(i’
x=5+45+325 = —15x2 +60x +10=

x=5+45+325 = —15x> +60x+10= _

(1) 40
o 75 40 (1)
& 70 (2)
4) 100 %0 (3)
100 (4)
Options:

1. %1



o ® oo
3. ¥ 3
4 % 4

Question Number : 81 Question Id : 6672695072 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

(1) Arithmetical Ability
:;;EFQL?@

Jordseilardon . =

(1 2 J6+\/6+1|I'6+-J6+ ______ Y

(2) 4

(3) 3 6 (1)

@) 1 t
3 (3)
1 @

Options:

1. %1

2 %2

3. ¥z

4 % 4

Question Number : 82 Question Id : 6672695073 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

(1) Arithmetical Ability
:;;EFQL?@

What 1s the least value of x such that 43x4567 15 divisible by 117

LU e 11w A3x4567 Sl df e fSx St

(D 4

2 6 4 (D

3) 7 6 (2

) 8 [ &)
I

Options:



1. %1
o %o
3 %3
4 ¥ 4

Question Number : 83 Question Id : 6672695074 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

(1) Arithmetical Ability
w;‘;l?(}l.?@

The number of positive integers between 1 and 2087 that are divisible by

311s:
A7 S =3 easdfintegersed L 208761
3
<yx
(1) 53
53 (1)
(2) 59
59 2)
(3) 67 (
67 (3)
(4) 73
73 (4)
Options:
1. %1
2 ® 2
3.¢3
4 % 4

Question Number : 84 Question Id : 6672695075 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



(1) Arithmetical Ability
::&l?QL-?@

What 1s the largest four digit number that leaves a remainder 4 when 1t 15

divided by 36, 48 and 647

(1) 9697
(2) 9782
(3) 9796
(4) 9802

‘362 ..;;'_L"J.v“.f’j%_uﬁ"i/4£.f_ .u-'-fd',w4lj{a_:yr_..,.w|,i:r:~:

cebn S E e 645148
9697 (1)
9782 (2) .
9796 (3)
9302 (4
Options:
1. %1
o 2
z vz
4 # 4

Question Number : 85 Question Id : 6672695076 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



(1) Arithmetical Ability
;a&ﬁgﬂﬁ(i

What 1s the numimum number of square tiles requred to pave a floor of

dimensions 24 78 meters = 22 26 meters?

(1) 3027
(2) 3127
(3) 3242
4) 3247

£
|

title, Mnfeld LifPile f2 wPe22.26.m0 #2478

—c=us AUsquare

3027 (1)
3127  (2)
3242 (3)
3247 (4)

Options:

1. % 1

o vz

3 %3

4 % 4

Question Number : 86 Question Id : 6672695077 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

(1) Arithmetical Ability
:&kﬁgﬂﬁ(i

361 361
— = =X =
0361 «x

361 961 ...
(1) 361 0361 X -
(2) 3.61
(3) 0.361 36.1 (1)
(4) 0.0361 3 61 (2)

0.361 (3)

0.0361 (4)



Options:
1.¥1

o ® oo
3 %3
4 # 4

Question Number : 87 Question Id : 6672695078 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

(1) Arithmetical Ability
:‘;WQL?@

If the recurring decimal number 127 is equal to the rational number %

then p—g=
" ~ B e E g d&En L ?? 0 i
p—g=2¥¥rsrL—y 127 rational N L CFIG AL .
q

3 (1)
{1l 3 8 (2)
(2) & 27 (3)

(3) 27 83 (4)
(4) 83

Options:
1.91
2 %
3 % 3
4 # 4

Question Number : 88 Question Id : 6672695079 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



(1) Arithmetical Ability
::‘;l?QL-?@

The difference between the largest and the smallest of the following

rational numbers 1s:

o il I"F' i
33241 6 / |,_,?/’K,’fijf|"ic.‘_.f,x!luk}::..a}*:}uti_'w?

58739211

11 11
(1) = - @B
. 13 13
g 23 P’ < 2
(2 48 48 @)
11 11
(3) 24 vy (3)
7 7
(4) = 33 (4)
Options:
1. %1
2 %z
3. % 3
4. 9 4

Question Number : 89 Question Id : 6672695080 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



(1) Arithmetical Ability
::&l?QL-?@

What 1s the least fraction to be added to the sum of the following

fractions to make it an mteger?

e i 7z o | 1
TR TR Ty

™ - f 4 ¥ . -
oG suf = 15 Sfractions i 2 L2 tinteger(l.

1 7

61—4— 5 7

1
2 2 367327

|
e |

1)
(1)
(2
(2)
3)
(3)

(=T IR« T [ SR I R T

(G
(4)

Wik ol ol vl

Options:
1. % 1
o %D
3. v 3
4 # 4

Question Number : 90 Question Id : 6672695081 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



(1) Arithmetical Ability
::&FQL?Q

If the length of a rectangle 1s increased by 13% and the breadth decreased

by 10% then the percentage change 1n its area 1s:
T L L i A 1 ;
e dire g 010% LU L e tr SLK15% ;_,':uwur’&,ﬁ_xj

P S

48] 7% increase 7% a0 (1)
l.-"

(2) 7% decrease 7% U 2)

(3) 3%% decrease 3%% Ao (3)
lﬂ__.- - ~

4 %o mcrease 3%% $ (4)

Options:
1. %1
2 %
3 %3
4 ¥ 4

Question Number : 91 Question Id : 6672695082 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



(1) Arithmetical Ability
::&FQL?Q

A spends 70% of his mcome and saves the rest. If his income increases
by 15% and expenses imcrease by 20% the percentage change in his
saving will be:
1) 30% increase

10, -
1y  —“e1increase

3

3 H
0 d .
Jo aecrease
5.

i .
0 d .
Jo Qecrease
4} 10

b1 At15% TS e ttm (e v/ B 2 2 T0%EATIA

B A - +
Sl 2 Sud e o bm SLI20% 2

-

309 3Ll (1)

%‘% Al (2)
3 I.-'

5 %l (3)

—~% @
Options:
1. %1
e
3. % 3
4 % 4

Question Number : 92 Question Id : 6672695083 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



(1) Arithmetical Ability
::&FQL?Q

A person buys an article for Rs 18000 and after one year sells 1t for less
than?5% of 1ts cost price. What 1s the sale price (in Rs.) ?

(1) 15.000
@) 13.500
3) 12.500
ey 12.000

#25% AUl JoeLisie st 2 LitUsss 18000 o L.

(iU ga) u#ﬁ‘L:';.:.-'*: Jod (_{;_,-"F.T_l:fr..:.é: /

15.000 (1)
13.500 (2)
12,500 (3)
12.000 (4)

Options:

1. %1

e .

3 %3

4 # 4

Question Number : 93 Question Id : 6672695084 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



(1) Arithmetical Ability
::&l?QL?Q

A buys a prece of land for Rs. 75 lakhs and sells 1t to £ at a profit of 10%.
B in tum sells 1t to C at a profit of 20%. The amount of money paid by
C{mm Rs. lakhs) 1s:

1) 97
@ 08
3) 99
) 101

Zi5afCB et /2318 10%5 B siets? SSVTS S AILIA

= = - - o I L5
- xl uffl._f'{iun-“-c{'dﬁiﬁﬁuﬁglaé?ﬁcﬂ%r/ﬁﬁﬂf&wty 20%

97 (1)
98 (2)
99 (3)
101 (4)

Options:

1. % 1

o %D

3. ¥ 3

4 % 4

Question Number : 94 Question Id : 6672695085 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



(1) Arithmetical Ability
::&l?QL-?@

A and Bstarted a busmess with capitals of Rs. 12 lakhs and Es. 24 lakhs
respectively. Areceives a monthly salary for minning the business. At the
end of the year they receive Rs. 1. 80.000 each. What was the monthly
salarv of 4 (in Rs )7a

) 6.000
) 7.500
3) 9.000
@ 10.500

JL:JE'JFML.'Jh JLELJJ’}LETE’JE ul'.‘r/_.gi:.."_,:l.._f.,.fﬁlr 512455012 * BuA
SAUL v F61,80,0005 L LIoa Qo inf L LIt

LU .-';'qiLL.-rn i "J'.."‘?L

6.000 (1)

7.500 (2)

9.000 (3)

10,500 (4)
Options:
1. %1
e .
3 %3
4 # 4

Question Number : 95 Question Id : 6672695086 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



(1) Arithmetical Ability
::&l?QL?Q

A and B enter into a partnership business with capitals in the ratio 4:5
respectively. At the end of 4 months 4 withdraws and B continued. At the
end of the business they share profits in the ratio 1:5. The number of

months B’s Capital was used is:

(1) 8

@) 12
3) 16
(4) 20

‘A (7 Lot LSS p Soad §4.5 2 AL M K31 2 LB A

s [ ¥ . 5 -
emah 1.5 !rﬁ ;,'f!J,;|“L~?fc:_.J|,:JE’_..:'_Lf;J.;}|._.B ,ui.-:_ﬂg_r:a.f}r_..xlpgbl

e -
-
y

VWIS ABL L e u§ p2 S

8 (1)
12 (2)
16 (3)
20 (4)

Options:

1. %1

o oo

3. v 3

4 % 4

Question Number : 96 Question Id : 6672695087 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



(1) Arithmetical Ability
::&l?QL-?@

2 pipes can fill a tank 1in 30 munutes and 36 munutes respectively. A third
pipe empties the tank at the rate of 11 liters per munute. If all the three

pipes are opened simultaneously it take 22% munutes for the tank to be

full. The capacity of the tank in litres 15; forcapin

(1) 1060
) 960
3) 760
) 660
12

3IS7 AL Lt L Az Pi 236 512230/ 2 LIy,
Wi JA R At et Qo U512 11 2

,, o ) o
Y :‘P’UCJ;-':Capamtygiff.,.Lu'_f.x_mtfu;:&z? 2L #

1060 (1)
960 (2)
760 (3)
660 4

Options:

1. %1

o ® D

3 %3

4. 9 4

Question Number : 97 Question Id : 6672695088 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



(1) Arithmetical Ability
::&UQL-?@

Two pipes A and B can fill a tank 1n 2 hours and 3 hours respectively. If

both the pipes are opened together the time required 1 munutes to fill the

tank 1s:

(1) T2
(2) 85
(3) 105
(4 108

- 3 "o o * .Fp - o . b 5 o
EJ;‘JJ{JL-*J;J;?-FJE LIV L.;_.Er'_/"f.,{fll: uﬁu;"j EJKUJFJ“FBJ:.‘A k!

_5};?’_-_;-'_,,,5};{-1_5 L/‘;;Jr’u;::?;i’_.?

72 (1)

85 @)
105 3)
108 @)

Options:
1.¥1

o B oo
3 ® 3
4 % 4

Question Number : 98 Question Id : 6672695089 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O



(1) Arithmetical Ability
::&FQL?Q

A man 1s walking at a speed of 10kmph. After every kilometer he takes

rest for 5 muoutes. How much time he takes i nunutes to cover a distance

of 7 kms?
(1) 68
2) 70
(3) 72
(4) 76

S35 e b TS 0r g S 2 e Coe 1558312107 i .

i - -~ il "
e K AU WL L T Lok 12T

68 (1)
70 (2)
72 (3)
76 (4)

Options:

1. %1

o 8o

3. ¥ 3

4 % 4

Question Number : 99 Question Id : 6672695090 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



(1) Arithmetical Ability
::‘;l?QL-?@

What 1s the time taken in hours by a cart to cover a distance of 0.9 km

at 0.25 (meters per second) 7

() 1

@ 12
3) 14
) 15

S L3 #2025 $anlld LiSE Lk 2509

=

-

1 (1)

1.2 (2

14 (3)

1.5 (4
Options:
1.v1
2 %2
z %3
4 % 4

Question Number : 100 Question Id : 6672695091 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



(1) Arithmetical Ability
::&FQL?Q

. R and § can fimsh a job 1 10 days. 5 and M can fimish 1t in 12 days and
M and R can finish 1t 1n 15 days. In how many days will RS and M

together finish the job?
M 8
) 7
3) 6
) 6
St E SN2 M St ZE S 51056 LISHR
ZSPSDES KA SUERSM Sl JF 515 R
-
g (1)
7
& )
6 (4
Options:
1.v1
2 %z
3 %3
4 % 4

Question Number : 101 Question Id : 6672695092 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



(1) Arithmetical Ability
::&FQL?Q

P can do a work in 12 davs and Q can do the same work mn 16 davs. Both

start the work together and ( left after 4 days. How many more days are

required byPto finish the work?
(1 4
) 3
(3 6
(4 7

LTSS Uit S S 165651 Qual s 1276 LIP

L e v " - L r b r ]
B K& SPLLL SN S borssf it L * Q-

4 (1)
5 (2)
6 (3)
7 (4)

Options:

1. %1

o Wz

3 % 3

4 % 4

Question Number : 102 Question Id : 6672695093 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



(1) Arithmetical Ability
::&FQL?Q

The length of a plot 15 5 timesis its breadth. A playground measunng
500sq.m 1 occupied by one fourth of the total area of the plot. The length

of the plot 1n meters 1s:

) 80
@ 100
3) 120
) 125

(2 Va L3l e atiz 5 e Qugdudlde F Zotsl.

Lt 23St Qe sig . LJE s 12 551500

80 (1)
100 (2)
120 (3)
125 4)

Options:

1. %1

o Vo

3 % 3

4 % 4

Question Number : 103 Question Id ;: 6672695094 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



(1) Arithmetical Ability
::‘;l?QL-’(i‘

Area of the given figure.

) K rl"” L4
| 3m
6m
tm 6m
6m

L

(1) 18+(1+m) 18+(1+m) (1)

(2)  18+(2+m) 18+(2+7) (2)
18+(1+27) (3)

@ 36(1+x) 36(1+7) (@)

(3) 18+(1+27)

Note: For this question, discrepancy is found in question/answer. Full Marksis being awarded to all
candidates.

Options:

1.1

22

3 3

4. 4

Question Number : 104 Question Id : 6672695095 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



(1) Arithmetical Ability
::‘;l?QL-?@

What 1s the volume of a cube (incu_cms) whose total surface area in

726 sqems?

(1) 1231
(2) 1321
3) 1331
(4) 1728

B o - L i b ' w T
TR IET265.5 Mk Sn (U 25 L 05 Scube

1231 (D
1321 (2)
1331 3
1728 (4)

Options:

1. %1

o %D

=¥z

4 % 4

Question Number : 105 Question Id ;: 6672695096 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



(1) Arithmetical Ability
::&FQL?Q

The length. breadth and the height of a cuboid are mn the ratio 6:5:4 and
its total surface area 15 33.300 sq.m. What 1s the length of the cuboid (in

meters)?

() 60
(2) 15
3 85
(4 90

33300 S48 KUte Ler$6:5:4 Sismdig Sudhed g
..:fT‘:LV LS }féud”ﬁf:{-—{_ur §uh ;,ﬁ- I

60 (1)
75 @)
85 «(3)
90 (4

Options:

1. %1

o 2

z %3z

4 ¥ 4

Question Number : 106 Question Id : 6672695097 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0



(1) Arithmetical Ability
::&FQL?Q

If the length and breadth of a rectangular plot area 120m and 76m

respectively. then the cost of fencing it at Rs 8 per metre (in Rs) 1s:

(1) 3136
@) 3130
3) 3124
) 3118

Srd$ TG e AT FT6U K120 (g S 30 L.

= - % -
- KHLFFL,'IJJ:JL-a?s‘_.I,: JT'JJ! ‘Jﬁa’rugquj }"f{,}JKJJi 2

3136 (1)

3130 (2)

3124 (3)

3118 (4)
Options:
1.9 1
o 8D
3 %3
4. % 4

Question Number : 107 Question Id : 6672695098 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



(1) Arithmetical Ability
::&l?QL-?@

The area (in sq.cm) of a regular hexagon of side 4cm 1s:

¢)) 1643

) 24,3
3) 2442
€Y 1642

G A 3K 2 G AN S O regular hexagonL.

EnlS
1643 (1)
143 )
2N PR €)'
1642 4

Options:
1. %1
2 VD
3 %3
4 % 4

Question Number : 108 Question Id : 6672695099 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



(1) Arithmetical Ability
::&UQL-?@

. Two equal cubes of side of length 18 cm are jomned together to form a

cuboid. Then the total surface area of this cuboid (1n sq.cm) 1s:

(1) 2430
) 3240
3 4860
ey 7200

i 1-+ -~ - e ..-r"_ F . !_.:JP' -
Qs e I8 QUL S LL AL Gnd Li JFeid L,

__le',,)l;.- A0, :iffr

2430 (1)
3240 (2)
4860 (3)
7290 (4

Options:

1. %1

2 D

3 % 3

4 % 4

Question Number : 109 Question Id : 6672695100 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

(1) Arithmetical Ability
QAFQL?O

{x: B-4a|>12}=

(1) (—oo, —1)w(6. o)

(2) (—eo. —1)(5. @)

(3) (—L 5) {:r: |S—4x|::-12}=
4 (L 3)

(=, —1)u(6. x) (1)
(—oo, —1)u(5, o) (2)
(—L 5) (3)

(L5) @



Options:
1. % 1
o D
3 %3
4 # 4

Question Number : 110 Question Id : 6672695101 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
(1) Arithmetical Ability
e
k(s (}L-?@
If 5x+7=12(mod 18), then the smallest integral value of such an x 1s:

Sx+7=12(mod 18).

F o - ~ i I.-f - ) &
S edintegrald = S X F5x+7=12(mod 18)./ 1,

1) 19
19 (1)
2) 17
17 (2)
3) 13
13 (3)
4) 15
15 (4)
Options:
1.v1
2 ® 2
3 ¥ 3
4 % 4
Sub-Section Number: 2
Sub-Section Id: 667269514
Question Shuffling Allowed : Yes

Question Number : 111 Question Id ;: 6672695102 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



(1)  Algebraic and Geometrical Ability

=B bl 2

If p.g are any two statements, the negation of the statement

((~Pvg)Aa(pv~q)V(pAg))is:

(D ((PVa)A((~p)V(~q))
) ((PAg)V((~p) A(~))
3) ((PAg)A((~p)V(~q))
) ((Pva)A((~p)A(~q))

" . ' i ”
;& wmegation - fstatementssds g P,

((~Pvg)nlpv~q)Vv(pArqg))

((Pvg)a((~p)V(~q)) (1)
((PAg)V((~p)A(~a) (2)
((PAg)A((~p)V(~q)) (3)
((Pvg)A((~p)A(~q)) (4)

Options:

1. %1

2 ® 2

3 ¥ 3

4. v 4

Question Number : 112 Question Id : 6672695103 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



(1)  Algebraic and Geometrical Ability
=B bl 2

For any two statements p.g a tautology among the following 1s:

(1) PV (~(pAp))
(2) (pvg) =p
(3) ~pAq)=p
) ~phq)=~p

S e Ut i~ tautology (P,q Statementss(y

Pv(~(paAp)) @)

(pvg) =p (2)

~prg)=2p (3)

~pAq) = ~p (4)
Options:
1.v1
> R oo
3 ¥ 3
4 % 4

Question Number : 113 Question Id : 6672695104 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



(1)  Algebraic and Geometrical Ability
=B bl 2

Let A, B be subsets of a set X and let n(4) denote the number of elements
mA Ifn(d) =15 n(ANB)=4.n{AUB) =21 then n(B-A)=

4 4
2 6
3 10
) 14

” & P -
Alogl /b Selement © i(A)_ gsubsets A, B ‘L Xir,

KBA=—om(AUB) =21° A= 15 kAN B =4 A

4 (1)
6 (2)
10 (3)
14 (4)

Options:

1. %1

o vz

3 %3

4 % 4

Question Number : 114 Question Id : 6672695105 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



(11)  Algebraic and Geometrical Ability
=B bl 2

If a set X has four elements. then the nmumber of relations on X that are

SYIMMEric 15

1) 21"
@ 2"

3) ot

) 216510

- . - |f e . : o -
- Jrsymmetric2 o J e Bl X S paia bl Xaw L1/ 1,

916_o6 (1)

410 (2)

26 (3)

216_510 (4)
Options:
1. %1
o vz
3 %3
4 % 4

Question Number : 115 Question Id : 6672695106 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



(1)  Algebraic and Geometrical Ability
=B bl 2

Let R={(m,n) € N* : m + n is even}.Then the relation Ron §yj 1s :

(1) Reflexive only

(2) Reflexive and symmetric but not transitive
(3) An equivalence relation

(4) Symmetric only

R ={(mn) EN:m+niseven}ln 98 f‘.}i'-ﬁ Rﬁlﬂtiﬂllﬁlﬂ])

T 3ﬁ?ﬁmaﬁlﬂéﬂ_ﬁm~,ﬁ
Reflexive only (1)

Reflexive and symmetric but not transitive (2)

An equivalence relation <&k (3)

Symmetric only 2l (4)
Options:
1. %1
2 %2
3.¥3
4 # 4

Question Number : 116 Question Id : 6672695107 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



(1)  Algebraic and Geometrical Ability
=B bl 2

A line lwhich makes equal intercepts with the coordinate axes,

passes through the point (3.4). Then 1t also passes through the point:

(1) (5.-6)
2) 6.7)
(3) (—3.4)
) (-2.3)

e 3 e 18 B, - 4) 3/ faxes g2 UL

I -n-f: l":" " - .
-L;..f.a‘ i d_-ﬁj/ut)?f}gfﬂm__.ﬂ

(5.-6) (1)
-6.7) (2
—34) (3)
—2.3) @

Options:

1.1

2 ® 2

3. ® 3

4 % 4

Question Number : 117 Question Id : 6672695108 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



(11)  Algebraic and Geometrical Ability
=B bl 2

If A(2, 3)., B(3.4) and C(-1.5) are vertices of a triangle. then the

length of median through 4 1s:

M -
@) =
® e

@ 2

LA . pvertices Ll (A (2, - 3), B(3,4), C (-1, 5).)1.

Kol cloese LY
=W
= ©
= ®
= @

Options:
1. %1
o vz
3 %3
4 % 4

Question Number : 118 Question Id : 6672695109 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



(11)  Algebraic and Geometrical Ability
=B bl 2

If sm#=3 and @ 1s not in the first quadrant. then secf+tan8=

secf+tanf=_"sind=7 and 4 is not in the first quadraanl.

3
(1) 5
12
(2} T 3
13
: - = M
(3) % 12 )
@ 13 1% =
12 2
— (3
= ()
13
17 (4)
Options:
1.¥1
> R oo
3 %3
4 % 4

Question Number : 119 Question Id : 6672695110 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

(11)  Algebraic and Geometrical Ability
=B bl 2

sec&—mnt?:x:bl-'-f = 3
1—x2 1Ex
sec&—fant?:x:bl 5
(1) s & =
(2} cosect Sing (1)
3} _ cosect (2}
(4) ’ costd (3)
cot

cotd (4)

Options:
1. %1



> 2
3. % 3
4 % 4

Question Number : 120 Question Id : 6672695111 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

(1)  Algebraic and Geometrical Ability

”~
el 2
_4+B=§=>{1:—m1,4}{1+ tan B)=

(1) 1 ;i+3:g:>{l+tand}fl+mnﬁ}:
2 2

o o 3

2 (2)

4 o | _

@ 0 @

-1 4
Options:
1. %1
2 V2
3. % 3
4 % 4

Question Number : 121 Question Id ;: 6672695112 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



(1)  Algebraic and Geometrical Ability
=B bl 2

The angles of elevation of a tower from the top and bottom of a
building of height 30 meters are 30°and 607 respectively. Then

the height of the tower (in meters) 1s:

(1) 45
@) 60
3) 75
@) 90

Z.Jg:lf.;t_f..gﬂ;.ﬁ t,;;!.fvi..fﬂtl-_ijdr,adl,l 230

7 8 B ;
-'jﬁy DAV G AL V-5 LV 607 305,:[31

45 (1)
60 (2)
75 (3)
90 4)

Options:

1.v1

2 ® 2

3. % 3

4 # 4

Question Number : 122 Question Id : 6672695113 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



(11)  Algebraic and Geometrical Ability
=B bl 2

1 1
=8 Sty =
X X
3 1
=8 e e =
X *5.'3
(1) 125
(2) L9 125 (1)
(3) 90 110 )
.q
(4) 102 %0  (3)
105 (4)
Options:
1. % 1
e e
3 %3
4 % 4

Question Number : 123 Question Id : 6672695114 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

(11)  Algebraic and Geometrical Ability
=B il

3x—4y=T; xp=5 =95 +16y> =

(1) 120

(2) 144

(3) top Ix—Ayp=Tap=58 —3 9x> +16j‘2 =

(4) 196
120 (1)
144 (2)
169 (3)
196 (4)

Options:

1. %1



o ® oo
3. ¥ 3
4 % 4

Question Number : 124 Question 1d : 6672695115 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

(1)  Algebraic and Geometrical Ability
=6 S sl d 2

The remainder when the polynomial 7 +13x* -19x-20 is

divided by x + 2 1s:

(1) 14
(2) 18
(3) —14
(4) —18

x + 2 gpolynomial 75 +13x*-19x-20 243} Ll2.

-‘,.}'%.L“:fr‘:-ir Jb=

14 (1)
18 (2)
-14  (3)
-18 4

Options:

1.v1

2 ® 2

3 ¥ 3

4 % 4

Question Number : 125 Question Id : 6672695116 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



(1)  Algebraic and Geometrical Ability
=B bl 2

If a polynomial i x leaves remaindersi9. 17 respectively
when divided by x +4 and x—5. then the remainder it

leaves when divided by x°—x—201is

(1) x+4
(2) 3x—4
3) 4y +3

(4) 4x—3

2 o 4! 51, 17 - 19 polynomial L= x <.

-.:;:.t‘,rfu';'/;..,.«ﬁjﬁél_fu__ﬁf_.b'ﬁrﬂ:v JF e x +disix=5

R | )

3x+4 (1)
3x—4 (2)
4x+3 (3)
4y —3 (4)

Options:

1. %1

2 %2

z %3

4 ¥ 4

Question Number : 126 Question Id : 6672695117 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0



(11)  Algebraic and Geometrical Ability
=B bl 2

The value of & for which the system kv + 3v=/i—3 and

12x+kv = k of equations has infinitely many solutions is:

(1) 4
(2) 5
(3) 6
(4) 7

[2xtky= skx+3y= k3 en-d L =ik

_u_?;ﬁf‘wz.:.«ﬁ,;gﬁuﬁ/:;iu’h_}k

4 (@)
5 @
(&) (3)
7 @

Options:

1. %1

2 % 2

3.¢3

4 % 4

Question Number : 127 Question Id : 6672695118 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



(1)  Algebraic and Geometrical Ability
Py
o l b
b d/lg}:ldl/:él
A fraction becomes gif 1 1s added to both its numerator

N N 1. .
and denomuinator while 1t becomes Elf 5 1s subtracted from

its numerator and denomuinator.  The fraction 1s

1) =
( 11
@ =
= 11
3 :
) 9
4) -
¢ 10
; : f 1.E
I % = Denominator ssnumerator ur’b,*?":—dﬁ'g ff \..gl
‘ = 4 :
w sz b5 ,f_ufrﬁg_dﬁg hbless S £l
S dﬁy Fraction
5
v (1)
6
it g
7
= 3
: 3)
7
— 4
— (4)
Options:
1. % 1
2 %2
2.v'3
4 % 4

Question Number : 128 Question Id ;: 6672695119 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



(11)  Algebraic and Geometrical Ability
=B bl 2

. If the sum of first 21 terms of an arithmetic progression

is 609, then the 11™ term of progression is

(4) 29
Lis 11" 75609 ssZ¥progression JLodn21 A

& - .
xS askprogression

23 (1)
D (2)
27 (3)
29 (4)

Options:

1. %1

o ® 2

3 %3

4. 9 4

Question Number : 129 Question 1d : 6672695120 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O



(1)  Algebraic and Geometrical Ability
=B bl 2

: 1 1,
The harmonic mean of — and = 15

X v
(1) the reciprocal of average of x and v
(2) product of x and y
(3) the average of x and v
(4) the reciprocal of the sum of x and y

- 1

e Ui b L i

; y %
Losidizgysix (D)
— 2 S Ky ix (2)
J:.':W’}U:IE (3)

ARz lysx (D)

Options:
1.v1

o ® oo
o ® 3
4 % 4

Question Number : 130 Question Id : 6672695121 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0



(11)  Algebraic and Geometrical Ability
=B bl 2

The coefficient of x**in the expansion of

(x=1)(x=2)(x—3)... (x—13)1S

(1) —78
(2) 78
(3) 5 |
@ o1 _Eullcoefficients x'?
(x—1}{x—2)(x—3).. .(x—13)1S
—78 (1)
78 (2)
—5 (3)
91 4)
Options:
1. %1
2 ® 2
3 ¥z
4 % 4

Question Number : 131 Question Id ;: 6672695122 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



(11)  Algebraic and Geometrical Ability
=B bl 2

The sum of all the coetficients in the expansion of

(1-2x+3x%° is

(1) £
(2) B+
(3) i
(4) 0

Kl Ui (12443 X))o 2 bkcoefTicients 2.

£

o a5

2 @)

0 @
Options:
1. %1
o ® D
3¢z
4 % 4

Question Number : 132 Question 1d : 6672695123 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O



(1)

:

Algebraic and Geometrical Ability
=B bl 2

11
(B o e
11

e i

1‘} SEEIEEIA

I: 32010‘{ (1)
(2) 32[319‘4 5
= 74 @
3y 3y i
{ ) = 3;013‘4 (3)
iy 3 :
( ) %Eﬂl.’{{ {4)
Options:
1. %1
o %2
2. v'3
4 % 4

Question Number : 133 Question Id : 6672695124 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

(11)  Algebraic and Geometrical Ability

=B bl 2

1. B B JF 5 1
A A: [} l 0 I _B = U 1 U :>£{QQBIUU+B99‘410U:
0 0 1 1 0 0
1 A+B
& A+B (1)
2 : &
2 . A-B ®)
(3
(3) AB - 3)
4 0
(4) ; @
Options:
1.v1
2 ® 2
3. % 3

4 # 4



Question Number : 134 Question Id : 6672695125 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

(11)  Algebraic and Geometrical Ability

=B bl

2 gsin x—x
1 R S

x—0 _‘X,'S
: Jim 22 ';_x =
M : x50
1
o - :
3 1
® 3 = O
6 =B €)
@ -3 6 v
1
==
Options:
1. %1
o %D
z % 3
4 v 4

Question Number : 135 Question 1d : 6672695126 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O



(11)  Algebraic and Geometrical Ability
=B bl 2

If y=xsinx, thenatx=1", dy _
27 dx
iy E
(1) 5
T d & =
(2> ]- ,Y = EJ é :_.‘:".y S _KS]_I] d'(‘fl [.
3y 0 H
n .
4 -
: 1 Q)
0 Q)
- 4
2 4)
Options:
1. %1
o oW o
3 ® 3
4 % 4

Question Number : 136 Question Id : 6672695127 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



(11)  Algebraic and Geometrical Ability
=B bl 2

In a triangle 4BC.|4=|B=|C. The bisectors of the angles

|Band |C interect at D. Then |BDC =

(1) 30°
(2) 60°
(3) 90°
(4) 120°

&, Dole sl LUgsif aBCla=|B=|c SElL]

30°
60° ()
90° @
120° ¢

Options:

1. %1

o %o

3. % 3

4 ¥ 4

Question Number : 137 Question 1d : 6672695128 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



(11)  Algebraic and Geometrical Ability
=B bl 2

 If the diagonals of a rthombus are 9 cm and 12 cm. then

the perimeter of the rhombus (in cm) 1s:

KJ"-;JV,:?JKJLH ;qu’}f;:,‘:ﬂg L;’:JJL'ﬂju{ff.

(1) 30 S rdEnperimeter
2 21
E: i 30 (1)
. o
“) 32 (3)
28 (4)
Options:
1.91
2 %
3 % 3
4 # 4

Question Number : 138 Question 1d : 6672695129 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



(1)  Algebraic and Geometrical Ability
=B bl 2

Let P be an external point to a circle and PT be a tangent

drawn from P meeting the circle at 7. If 4B is a chord of

the circle such that A. B. P are collinear. PT = 5 cm and

PB =4 cm then PA=

(1) 6cm

(2) 6.25cm

(3) 6.5cm

(4) 6.75cm
Lt e P SPT i o hdP =638 2l 3o L.
e e AB 1.k o 3o T rG-Udss-tangent
PT=5cm‘PB=4°PA= ?2.n4jA, B, PJ

6 cm (1)
6.25 cm (2)
6.5 cm (3)
6.75 cm (4)

Options:

1. %1

2 ¥z

3 %3

4 % 4

Question Number : 139 Question Id : 6672695130 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



(11)  Algebraic and Geometrical Ability
=B bl 2

If the area of the tnangle with vertices (1. 2), (2, 3) and (x. 4) 1s 40 sq.

units then the value of |x — 3| 1s:

<240 Kx, 4) K1, 2), 2, 3) vertices LZutIKel,

®» 70 L= dd]x — 3]
) 80
3) 85 70 (1)
4 90 80 ()
85  (3)
90 @
Options:
1. %1
2 2
z %z
4 # 4

Question Number : 140 Question Id : 6672695131 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



(11)  Algebraic and Geometrical Ability
=B bl 2

Area (in sq. units) of the quadnlateral ABCD with vertices A(2-1),
B(4.3). C(-1.2).D(—3-2)1s:

() 30
@ 21
@ 22
@ 18

D ‘B4.3) (-1, 2) *A(2:1) “verticesZ o~ ABCD quadrilateral L.

us(=3.-2)
30 (1)
21 (2)
22 (3)
18 (4)
Options:
1. %1
o 8o
3 % 3
4 ¥ 4
Sub-Section Number: 3
Sub-Section Id: 667269515
Question Shuffling Allowed : Yes

Question Number : 141 Question Id : 6672695132 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



(1) Statistical Ability
@AG‘G&JE& (111)

Anthmetic mean of 56, 37_ 38, ___, 100 1s:

) 73
@ 80 = L-2836, 57, 58, .., 100
3) 8
4) 76
S 7 1)
g0 (2)
g2 (3)
76 (4)
Options:
1.v1
2 ® 2
3. % 3
4 # 4

Question Number : 142 Question 1d : 6672695133 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



(11)  Statistical Ability
“ ﬁ .- e W
eI (i)
The median of some observations 1s 12. If two additional observations 10,

15 are added to these observations. then the median of the new series of

observations 15;

(1 11
@ 14
3) 13
@ 12

EL;_*,”.JLLFUEL.:.-U[L*-*:,” 15,10 h:el.JrL?-‘,iU:_u'fl s 12 fhﬁr:ﬁﬁﬁ*é.

= ?ﬁgftk’a:ﬁf;.-i*ﬁ*

11 (1)
14 (2)
13 (3)
2 @

Options:

1. %1

o ® 2

3 %3

4. 9 4

Question Number : 143 Question Id ;: 6672695134 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



(11)  Statistical Ability
“ ﬁ .- e W
eI (i)
If the anthmetic mean of some observations 1s 26.5 and theirr median 1s

254, then their mode 1s:

() 223
(0 732
(3) 234
(4) 243

df:'-‘_brﬂ'IUdCE’.:,,”.f:r:_Q 5 .4::%-:,;;)!1:14"‘_26. 5 :..{L?Eaﬂfmﬁ-‘f :

223 (1)
232 (2)
234 (3)
243 (4)

Options:

1. %1

e g

3 %3

4 % 4

Question Number : 144 Question Id : 6672695135 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



(111)

@AF&&J@ (

Standard deviation of first 25 natural numbers 1s:

&
@ 1
@) =
@ =

LI ]

111

Statistical Ability

)

Standard §2 & Z 124 2+5” Standard deviations i 2ests”

Options:
1.v1

o oo
3 ® 3
4 % 4

Question Number : 145 Question Id : 6672695136 Question Type:
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

|/ deviation
w1
4n i—.l {2)
"51 {3)
"I;I (4)

MCQ Option Shuffling: No Display Question Number : Yes



(11)  Statistical Ability
2 ﬁ LN ]
et Gid)
For the ten observations Xj. X3, .... Xjpit 15 g1ven tharixr. =12
i=l

10
and fo = 18. Then the standard deviation of the data 1s:

=l

: )
(1) 3
4 2
(2) <
3 3
3) B
4 5
) s
: 10 : 10 '
E‘SGHGSJF?:ZI; = 181:*21}-: 12;{_'_;;!:;_. X, e X1 uﬂn#ﬁ*“lj’r.
i=1 i=l
+/##¢x/Standard deviation
5
5 L)
2
Lot f
=)
3
= )
5
— 4
= @
Options:
1. % 1
o %D
3. ¥ 3
4 % 4

Question Number : 146 Question Id : 6672695137 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



(11)  Statistical Ability
2 ﬁ LN ]
eI (i)
If the sum of the squares of the deviations of ranks of two students in

seven subjects 15 21, then the coefficient of rank correlation 1s:

3
D =
5
j —
)
2 i
3) 5
1
H
Kuie” e J3Z Deviation a8 gt T E’urj‘_,.r'a.l,-g.wr.‘:.:ﬂzg".
/7 “€riSrank correlation
3
g @
5
s @
7
g 2
1
: &
Options:
1. %1
o vz
3 %3
4 % 4

Question Number : 147 Question Id : 6672695138 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



(11)  Statistical Ability
i ﬁ LR
eI (i)
A problem i mathematics 15 given to three students P. (0 and R whose

& o 1 : s
chances of solving it are T and- respectively. Then the probability

that the problem will be solved 1s:

2
(1) 3
3
(2 i
4
(3) =
b
(4) =
_-lclal P "Fgﬁ > o i 7 N
A G SN S S U6 i 6 RQ, P
F oo s ~
s probability§ F Ui
2
3 (1)
3
r" (2)
4
3 (3)
5
5 4)
Options:
1. %1
o oo
3. ¥ 3
4 % 4

Question Number : 148 Question Id : 6672695139 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



(1) Statistical Ability
2 ﬁ LN ]
&AFG&J&"’ (111)
Four dice are thrown simultaneously. The probability that all of them

show the same numbers 1s:

& &
@ =
1
(3) oo
1
4 e
S s s S e (o Sl L LY el il S S i 4
- S 3 LS probability
1
= B
1
= @)
1
== (3)
1 #
e )
Options:
1. %1
e
3 ¥ 3
4 % 4

Question Number : 149 Question Id : 6672695140 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



(11)  Statistical Ability
2 ﬁ LN ]
eI (i)
If two cards are drawn at random from a well shuffled pack of 52 cards.

then the probability of getting both cards from same suit 1s:

1
(1 =
2
2 Fiid
@ 17
3
(3) =
4
(4 o
- = o o E ! ' o
= suit ;,_,‘*.-‘E:i..:.r..s”_.J_ﬁ'l'ﬂndﬂlﬂ ik SiK52 Lpack (F LI,
# - - i L3
_d s/ probabilityd ik Usss
=
T
2 .
17 @
Loy
17 3)
2.
7 @
Options:
1. %1
2 ® 2
3 % 3
4. 9 4

Question Number : 150 Question Id : 6672695141 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



(1) Statistical Ability
2 ﬁ LN ]
eI (i)
When two dice are rolled at random_ then the probability of getting same

prime number on both dice 1s

1
(1) P
5
3 S
{_} 35
1
3 -
¥
4 el
(4) 7
{l- * ,‘P o - _ "l ‘1’ & .'-p
Ol L A s bl irandom 4/ ),
@ e
-o i/ probability
1
s
5
= @
1
g (3)
7
o6 B
Options:
1.v1
o ® 2
3 % 3
4 % 4
Corrorrmnication Ability
Section Id : 66726975
Section Number : 3
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 38
Number of Questionsto be attempted: 38
Section Marks: 50
Display Number Panel: Yes
Group All Questions: No

Sub-Section Number: 1
Sub-Section Id: 667269516



Question Shuffling Allowed : Yes

Question Number : 151 Question Id : 6672695142 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 1 WrongMarks: 0

Choose the correct meaning for the word given:

Slipshod

(1)  slippers
(2)  careless
(3)  careful

(4 cunning

Options:
1. % 1
o D
3 %3
4 # 4

Question Number : 152 Question 1d : 6672695143 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

Choose the correct meaning for the word given:

Recalcitrant

(1)  lesson
(2 recall
(3)  sympathetic

(4)  disobedient

Options:
1. %1
o %o
3 %3
4. 9 4

Question Number : 153 Question Id : 6672695144 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



Choose the correct meaning for the word given:

Placid

(1)  turbulent
(2)  tranquil
(3)  agitated
(4)  troubled

Options:

1. % 1

2.2

3 % 3
4 % 4

Question Number : 154 Question Id : 6672695145 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 1 WrongMarks: 0

Choose the correct meaning for the word given:

Frugal

(1)  economical
(2 financial
(3)  monetary

(4)  1ndustrial

Options:
1.9 1

> w2
3 ® 3
4. # 4

Question Number : 155 Question Id : 6672695146 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



Choose the correct meaning for the word given:

Conciliate

(1)  change
(2)  rouse

(3)  offend
(4)  placate

Options:
1. % 1
o %D
3 %3
4 ¥ 4

Question Number : 156 Question Id : 6672695147 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Choose the correct meaning for the word given:

Wholesome

(1)  delicate
(2)  gaunt
(3)  unsound
(4 healthy

Options:

1. % 1

o %D

3 ¥ 3
4. v 4

Sub-Section Number: 2
Sub-Section 1d: 667269517
Question Shuffling Allowed : Yes

Question Number : 157 Question Id : 6672695148 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



Fill in the blank choosing the correct word

A printed list of questions to be answered by a number of people is
called

(1)  aswvey

(2) anagenda

(3) amenu

(4)  aquestionnaire

Options:
1. % 1
o %D
3 %3
4 ¥ 4

Question Number : 158 Question Id : 6672695149 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Fill in the blank choosing the correct word

Many would not prefer to live a life like that of a hermit.

(1)  solitary
(2)  solitude
(3)  solo

4y  solitaire

Options:
1.v1

o ® oo
3 %3
4 % 4

Question Number : 159 Question 1d : 6672695150 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0



Fill in the blank choosing the correct word

The old people in the village still the old traditions.

(1)  observe
(2)  1gnore

(3)  discourage
(4)  forget

Options:
1.¥1

o B oo
3 ® 3
4 # 4

Question Number : 160 Question Id : 6672695151 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
Fill in the blank choosing the correct word

Although he 1s shy it certainly has not his career in any way

(1)  helped

(2 encouraged
(3)  impeded

(4)  impelled

Options:
1. %1
2 %
3. v 3
4 # 4

Sub-Section Number: 3
Sub-Section 1d: 667269518
Question Shuffling Allowed : Yes

Question Number : 161 Question Id : 6672695152 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



Choose the correct answer

A storage area in memory that stores information temporarily while in use 1s
known as

(1)  Buffer

(2 Bug

(3)  Capacity
(4)  Check box

Options:
1.91
2 %
3 % 3
4 # 4

Question Number : 162 Question Id : 6672695153 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

Choose the correct answer
Pictorial representation of programming procedure is called

(1)  Algorithm
(2)  Program
(3)  Flowchart

(4)  Executive file

Options:
1. %1
o %o
3 ¥ 3
4 % 4

Question Number : 163 Question Id : 6672695154 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



Choose the correct answer

An inter connection of two or more computing devices 1s generally known
as
(1)  Web page
(2 Server
(3) Network
(4)  Data communication
Options:
1. %1
2 ® 2

3.¢3
4 % 4

Question Number : 164 Question Id : 6672695155 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 1 WrongMarks: 0

Choose the correct answer
Which of the following 1s not a guided transmission media?

(1)  Fiber optic cables
(2)  Twisted pair cables
(3)  Coaxial Cables

(49 Radio waves

Options:
1. %1
o %D
3 %z
4. 9 4

Question Number : 165 Question Id ;: 6672695156 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



Choose the correct answer

The storing and accessing of data and programs over the internet mstead of
on another type of hardware drive is known as

(1) Cloud computing
(2) Compression
(3) Content

(4) Chip

Options:
1.v1
o %D
3 %3
4 % 4

Question Number : 166 Question Id : 6672695157 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Choose the correct answer
When do you conduct an induction of a new employee in an organisation?

(1)  Before recruitment
{2 Before Selection
(3)  Before completion of probation period

(4)  Before assigning the job
Options:
1. %1
2 ® 2
z %3
4 ¥ 4

Question Number : 167 Question Id : 6672695158 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



Choose the correct answer

A report of accounts that represents ending balance of each account in the
list at the end of the accounting period is known as

(1)  Account Receivables
(2)  Trial Balance

(3)  Allocation Rate

(4)  Asset Stripping

Options:
1. %1
e g
3 % 3
4 # 4

Question Number : 168 Question Id : 6672695159 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

Choose the correct answer

The economic concept that each consecutive unit of good consumed or
resource used. 1s  less useful or productive than the preceding one is known

(1)  Diminishing Returns
(2 Deflation

(3)  Depression

(4)  Discounting

Options:
1.v1

o ® oo
o ® 3
4 % 4

Question Number : 169 Question Id : 6672695160 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



Choose the correct answer

One of the assumptions in economics 1s that human wants are
(1)  scarce
(2)  constrained by resource
(3)  seasonal

(4)  unlinuted
Options:
1. %1
o %2
3 %3
4 ¥ 4

Question Number : 170 Question Id : 6672695161 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Choose the correct answer

A legal document by which a bank lends money at an interest in exchange
for the title of a debtor’s property 1s known as

(1)  Mortgage

(2)  Premium

(3) Loan
(4)  Credit
Options:
1.v1
o ® D
3 %3
4 % 4
Sub-Section Number: 4
Sub-Section 1d: 667269519
Question Shuffling Allowed : Yes

Question Number : 171 Question Id ;: 6672695162 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



Choose the correct answer

A : “Look at what you have done! You have knocked me down with your
cycle.”

B : “Well vou should be more careful while crossing the road.”
‘B’ 1s

(1)  apologetic
2y furious
(3)  unapologetic

(4)  angry

Options:
1. %1
o %2
3. v 3
4 % 4

Question Number : 172 Question Id : 6672695163 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0
Choose the correct answer
A: "My friend went through many ups and downs before he could reach the

present stage."
B: “Patience has its rewards. after all™.

‘B8

(1) hostile
2)  philosophical
(3)  derogatory
(4)  unfriendly

Options:

1. %1

o vz

3 %3

4 % 4

Question Number : 173 Question Id : 6672695164 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



Choose the correct answer

Change the following sentence into active voice: My pocket has been
picked.

(1)  Someone has picked myv pocket
(2)  Someone have picked my pocket
(3)  Someone picks my pocket

(4)  Someone has been picking my pocket

Options:
1.1
o %o
3 %3
4 % 4

Question Number : 174 Question Id : 6672695165 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Choose the correct answer

“You had better hold vour tongue.” The underlined expression means

(1)  keep the tongue between the teeth
(2)  take back what 1s said
(3)  not nunce words
(4)  not speak
Options:
1. % 1
o %D

3 ¥ 3
4 v 4

Question Number : 175 Question Id ;: 6672695166 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



Choose the correct answer

“Membership in the sports club can cost vou an arm and a leg.” The
underlined expression means. it 1s

(1)  physically strenuous
(2)  exhaustive
(3)  dangerous

(4)  expensive
Options:
1. %1
2 %
3 %3
4 ¥ 4

Question Number : 176 Question Id : 6672695167 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
Choose the correct answer

There is so much red tape involved in getting official permits. The
underlined phrase means

(1) cost
2y risk
(3)  bribe
(4) delay

Options:

1. %1

o ® 2

3. % 3

4. 9 4

Question Number : 177 Question Id ;: 6672695168 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



Choose the correct answer

“Nobody appreciated the manager throwing his weight around” The
underlined expression means

(1)  losing weight
(2)  giving up the authoritative position
(3)  wielding authority in a heavy —handed way

(4)  losing the authority and power
Options:
1. %1
2 82
3.v3
4. % 4

Sub-Section Number: 5
Sub-Section 1d: 667269520
Question Shuffling Allowed : Yes

Question Number : 178 Question Id : 6672695169 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Fill in the blanks with the appropriate phase/verbs/ preposition:

[ must protest this course of action
(1) at
@ by
(3 from

(4) along

Options:
1.v1

o ® oo
3 ® 3
4 # 4

Question Number : 179 Question Id : 6672695170 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



Fill in the blanks with the appropriate phase/verbs/ preposition:

He delights bemg helpful.
(1) 1n
(2) over
(3)  after

(4)  through
Options:
1.1
o %oz
3 %3
4 % 4

Question Number : 180 Question Id : 6672695171 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Fill in the blanks with the appropriate phase/verbs/ preposition:

being a gentleman. he was also a reputed singer.

(1) Beside
(2)  Besides
(3)  Although

(4)  Despite of
Options:
1. %1
e g
3 %3
4 % 4

Question Number : 181 Question Id : 6672695172 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



Fill in the blanks with the appropriate phase/verbs/ preposition:

I waiting here for the last three hours.

(1) am
(2)  have been
(3) was
(4)  had been
Options:
1. %1
2 ¥z
3. % 3
4 % 4

Question Number : 182 Question 1d : 6672695173 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
Fill in the blanks with the appropriate phase/verbs/ preposition:

I wish she dead.
(1)  were
(2)  was
(3)  had
(4)  has
Options:
1.¥1
2 ® o
3 % 3
4 # 4

Question Number : 183 Question 1d : 6672695174 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



Fill in the blanks with the appropriate phase/verbs/ preposition:

You are walking too fast. I can’t with you.

(1) keepup

(2)  make up
(3)  bring up
(4) getby

Options:
1.v1

o oo
o ® 3
4 % 4

Question Number : 184 Question Id : 6672695175 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Fill in the blanks with the appropriate phase/verbs/ preposition:

I love to the stars in the sky at night.

(1)  look out
(2)  look up at
(3)  look forward

(4)  look away
Options:
1. %1
o vz
3 %3
4 % 4

Question Number : 185 Question Id : 6672695176 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



Fill in the blanks with the appropriate phase/verbs/ preposition:

A crisis can the best in someone.

(1)  bring up

| ]

(2)  bring out

(3)  bring over
(4)  bring round

Options:
1. % 1
oD
3 %z
4 % 4

Sub-Section Number: 6
Sub-Section Id: 667269521
Question Shuffling Allowed : Yes

Question Id : 6672695177 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (186 to 190)



Read the following passage and answer questions

To avoid the various foolish opinions to which mankind i1s prone. no
superhuman genius 1s required. A few simple rules will keep you. not from error.
but from silly error!

If the matter 1s one that can be settled by observation. make the observation
yourself. Aristotle could have avoided the mistake of thinking that women have
fewer teeth than men. by the simple device of asking Mrs. Aristotle to keep her
mouth open while he counted. He did not do so because he thought he knew.
Thmking that you know when in fact you don’t 1s a fatal mistake to which we are
all prone. I believe myself that hedgehogs eat black beetles. because I have been
told that they do: but 1f I were writing a book on the habits of hedgehogs I should
not commit myself until I had seen one enjoying this unappetizing diet. Aristotle.
however. was less cautious. Ancient and medieval authors knew all about unicorns:
not one of them thought it necessary to avoid dogmatic statements about them

because he had never seen one of them.

Sub questions

Question Number : 186 Question Id : 6672695178 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

What do humans require to avoid bemg dogmatic?

(1)  super human genius

(2)  open-mindedness

(3)  afew sumple rules

(4)  a firm belief in themselves

Options:
1. %1
o R
3. v 3
4. # 4

Question Number : 187 Question Id : 6672695179 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



What was a common personality trait in Aristotle?

(1)  He was right about his beliefs
(2)  He did not verify his beliefs
(3)  He was always obstinate

(4)  He never made any mistakes

Options:
1. %1
o WD
3 %3
4 % 4

Question Number : 188 Question Id : 6672695180 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
What does the author believe in?

(1)  Intention

(2)  Dogmatism
(3)  Verification
(4)  Ignorance

Options:
1. %1
o ® oo
3.3
4 % 4

Question Number : 189 Question Id : 6672695181 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

What would the author do 1f he had to write a book on the eating habits of
hedgehogs?

(1)  see hedgehogs eating black beetles
(2)  believe that hedgehogs ate black beetles
(3)  write about hedgehogs eating black beetles

(4)  read about hedgehogs eating black beetles.

Options:



1.1
o %o
3 %3
4 % 4

Question Number : 190 Question Id : 6672695182 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

According to the author, what did the ancient and medieval authors feel
about their observations?

(1) It was foolproof
(2) It was cautious
(3) It was doubtful

(4) It was verified
Options:
1.91
o R
3 % 3
4. # 4

Sub-Section Number: 7
Sub-Section 1d: 667269522
Question Shuffling Allowed : Yes

Question Id : 6672695183 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (191 to 195)



Read the following passage and answer questions

Most managers don’t do things in the order of priority that they have
rationally selected. They do things according to feelings. That’s how their day i1s
run. Professional managers fall into two categories. There are doers and there are
feelers. Doers do what needs to be done to reach a goal that they themselves have
set. They come to work having planned out what needs to be done. Feelers. on the
other hand. do what they feel like doing. Feelers take their emotional temperature
throughout the day. checking in on themselves. figuring out what they feel like
doing right now. Their lives, their outcomes. their financial security are all dictated
by the fluctuation of their feelings. Their feelings will change constantly, of course,
so 1t’s hard for a feeler to follow anything through to a successful conclusion. By
contrast. a doer has high self-esteem. A doer enjoys many satisfactions throughout
the day. even though some of them were preceded by discomfort. A feeler is
almost always comfortable. but never really satisfied. A doer experiences more and
more power every year of his life. A feeler feels less and less powerful as the vears

go on.

Sub questions

Question Number : 191 Question Id : 6672695184 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
What 1s the major shortcoming in most managers?

(1)  they are mactive
(2)  they do not act rationally
(3)  they are dependent on others

(4)  they are foolish
Options:
1. %1
e
3. % 3
4 % 4



Question Number : 192 Question Id : 6672695185 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Who 1s a “feeler’?

(1)  aperson with a goal
(2)  aperson who plans his day
(3)  aperson who is a slave to his emotions
(4)  aperson who enjoys life
Options:
1. % 1
o %D
=¥z
4 % 4
Question Number : 193 Question 1d : 6672695186 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 1 Wrong Marks: O

What 1s the meaning of “emotional temperature™ ?

(1)  constant changes in one’s feelings

2)  the temperature of the physical body
(3)  intensity of one’s emotions
(4)  attitude to life

Options:
1.v1

o ® oo
3 ® 3
4 # 4

Question Number : 194 Question Id : 6672695187 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



What does a ‘doer” have?

(1)  plenty of work

(2)  high self-esteem

(3)  aloss of confidence
(4)  others to work with

Options:
1. %1
e g
3 % 3
4 # 4

Question Number : 195 Question Id : 6672695188 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
What does a ‘feeler” experience as the years go by?

(1)  a sense of achievement
(2)  asense of failure
(3)  asense of satisfaction

(4)  asense of happiness
Options:
1. %1
2 2
z %3
4 % 4

Sub-Section Number: 8
Sub-Section 1d: 667269523
Question Shuffling Allowed : Yes

Question Id : 6672695189 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (196 to 200)



Read the following passage and answer questions

It requires a sense of superiority assurance, and self-confidence, to write
about bores at all. except as one of them. But since a true bore is always
unconscious of his ‘borishness’. and indeed usually thinks of himself as the most
companionable of men. to write as one of them 1s to acquit oneself of the stigma.

Bores are happy largely because they have so much to tell and they can find
people to tell it to. The tragedy is they can always find their listeners. me almost
first And why can they? Why can even notorious bores always be sure of an
audience? The answer is the ineradicable kindness of human nature. Few men are
strong enough to say ‘For Heaven’s sake go away. you weary me’

One of the bore’s greatest assets i1s his simplicity which disarms. Astute
crafty men are seldom bores: very busy men are seldom bores.

Sub questions

Question Number : 196 Question Id : 6672695190 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Which quality 1s NOT required to write about bores?

(1)  Kindness
(2)  Confidence
(3) A sense of superiority

(4)  Belief mn oneself
Options:
1.91
o R
3 % 3
4. # 4

Question Number : 197 Question Id : 6672695191 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



Which of the following 1s NOT true of a true bore?

(1)  being conscious of his boorishness
(2)  being happy by and large
(3)  finding their listeners

(4) sure of an audience

Options:
1.v1

o B oo
3 ® 3
4 % 4

Question Number : 198 Question Id ;: 6672695192 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Why are bores happy?

(1)  they love their audience
(2)  they have never faced any tragedy in their lives
(3)  they always find their listeners

(4)  they are loved by everyone

Options:
1. %1
o ® oo
3.3
4 % 4

Question Number : 199 Question Id : 6672695193 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Which quality stands out in a bore?

(1)  Astuteness
(2)  Cunningness
(3)  Simplicity
(4)  Busyness

Options:



1. %1
o %o
3 ¥ 3
4 % 4

Question Number : 200 Question Id : 6672695194 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
What does ‘ineradicable’ mean?

(1)  extreme
(2)  feeling
(3)  shameless
(4)  deep-rooted
Options:
1. % 1
o %D

3 % 3
4 ¥ 4



